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∆Σ = 0.06 ± 0.12 ± 0.17. %B	C(
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� )��� X	 
����
� ���� �� ��������
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k = (E, 0, 0, |�k|), %B	D(

k′ = (E ′, �k′), %B	F(

P = (M, 0, 0, 0). %B	G(

0�
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Q2 = −q2 = −(k − k′)2 =
[
4EE ′ sin2 θ/2

]
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� �#���
���� �

������ ����
�� ��� �� ������� �� 1/

√
Q2	

Q2 > 0.

ν = P · q/M = [E − E ′]lab -���� ��#������ �
 ������	
0 < ν < E.

y = P · q/P · k = [1 −E ′/E]lab 5������� ��#������ ����
� ��� �� ������	
0 < y < 1.

x = Q2/2P · q Y����"�� �� 7!��<��	 O� ���� �� ���
�
�
� ���� ����# ���� �� ������� B	B	D	
0 < x ≤ 1.

W = (P + q)2 ����� ���������� �� ��#��� ��������
� Z	
W ≥M2
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d2σ
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=

α2

Mq4

E

E ′LµνW
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Lµν = 2
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kµk

′
ν + kνk

′
µ − gµν(k · k′) − iεµναβ q

αsβ
l

)
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)(
P ν − P · q qν
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(
2x
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)]
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� �� � �S = MHẑ� ����
H = ±1 �
����� �
� �� ��"�� ��� �������#� ������������� �
 ����������������� �
 &������
	
0��� ��#�
����� %B	BG(� S ���������� 
���
����� ���� ��� ����
��� ��������� sl · S = hk · S
�� q · S	 ,�� ��� �
����������
�� k �� q ��� ��
� ���������� H ������
����� #���� � ��
�
���������� E	 ,� ��
� ���� ��������� S ��� −Hp ��
� #���
�� �� ������� �>���� ���� ��
������ ���&���#���� ��#������
�	 ����� ���#������� �
� φ� �� �� ������
����� ��� �������������
�
 &������
 Pf �� �� �� ��"�� Pc� ��#�
����� %B	BG( ������� 9

d2σ

dxdy
=
e4ME

2πQ4

[
xy2F1 + (1 − y)F2 − PfPchHxy(2 − y)g1 + O(M2/Q2)

]
%B	BP(


����
� Pf �
 Pc ��� �
�� �� ���
�� 
�� ���"������� ��� &�������� �� ���
��
��� ���
�������#�� F1 �� F2	 -�
� ���
��� g1� �� &��� �� ���#����� ����� ��� �������� �>����� ���
�#��
��
� 
�� ��"�� �������#� ����������������� �� ������������� �
 &������
� � ������������ �

&������
 )�#� 9

d2σ

dxdy
(h,H = −h)− d2σ

dxdy
(h,H = h) =

e4ME

2πQ4

[
2PfPchxy(2 − y)g1 + O(M2/Q2)

]
%B	BK(


� ����� ��������� g2 #���� �� ������� M2/Q2� ����� &������� �� ���
��
�� �� ��
� R���
���
�#� ���� 
�� ���#������ �� 0$. �T �� ��"�� ��� �������#� ������
����������	 
����
� ��
��"�� ��� �������#� ����������������� ��� ������"
����� �� g1 �� g2 ���� ��� ������ �
 �R��
����� �� ������
�	 ������ �� ��� �����"�� �����#��� � g2 �� ���"����� ��� ����#�� �����������
�� ������
�������	

����� ������ ��� �������

0��� �� ������ B	B	C� �� � �����#��# �� �����
� ��������
�W µν � �#������� �� ��
����� �����
�� ������ �� 
� �
��#�� �� ���
��
�� ������
�� �� ����� �� D &�������� �� ���
��
��	 0���
�� ������ ��#�#������ �� � �
 ������� �� ���
���� ���&���#���� ��#������
� ��� �������#�
������ �� ���
�� �� F1 �� F2� �� �� ���
���� ���&���#���� ��#������
� �������#� ����� �� g1

�� g2	 3�
� ������ ���������� �������#��� W µν ���� �� ����� �
 ������ ��� �������	

0��� �� ������� �� ��������� �� �
��#�� ����� 
� �����"�� �� ������
��� �����
����� ��
���� BIC	 +�� �
��<� ������� ��
���� ���������� � ���#������ ����
�� q� �� ������� 
��
������ eq × e	 .� ���� �� ����� ���� 
� �#&#������� �T �� ������ �
 �
��#�� ��� ��)��� ��
��
� �#������ ��� ������ �� ��
��� ��� ������
��� �� !�
� ����� �
� �� ��
������ ����������
��� �������	 
� �
��������
����� ��
� ������ ����# ��� ����� ��������������� � ����� �

�
��#�� 9

p = ξP. %B	BL(

��
�
�� ��
�� ��� �� �������� ���
���'�� 	
���	��� �� 	�(���
� 	
�� &������� 	� ����
�� 	� ����� ����#��
�� 	� �
��������
� �����)����� ��� ��� �
��
������ �����)����� 	� )������ ���� �
�� ��	����� 	
�� &������
γ = E/m ��� ����
�� ! �� �
��
����� �
�#���	������



�� �������� ������������ ����������� ��������� #

ξ ��� �� &������� �����
����� �
 �
��#�� ����#� ��� �� ������ %0 < ξ < 1(	 .����� s �� ����
�
 ������ �� h ��� �#�����#	 0��� �� �#&#������� �� ������ ��)��� �� ������ �� �� �
��#��
���� ��
� ��
� 
������������������ �� ��#�
����� %B	BC( ������
�

s = hξP =
h

H
ξS, %B	CH(

�T S ��� �� �����
� ���� �
 �
��#��� �� H ��� �#�����#	

.
������� �� ��
�

Q2 → ∞, %B	CB(

�� �
� ������
� αs → 0 %��"���# �� �������
�(	 
�� ������� ��������������� ���� ��� �����
�
�� �� �� ������� �>���� �� ���
���� ��������
��#�� ��� �� ����� �����#����� �� ��������
�>����� �� ���
���� ������������� %)�
�� B	C(	

P

k

ξ

X

P P+q

q=k−k’

ξ

k’

���� ���� �������� ��	
�������
�� ���� �� ������ ��� 	��
����

�
������� ���� �� �����
� ��������
� W µν ��������� �� &������� �
 �����
� wµν(ξ, h)
�#������� �� ��
����� ����� �� ������ ����
�� �� 
� �
��< �� &������� �����
����� ξ ��
���#�����# h 9

W µν =
∑
q,h

e2q

∫
dξ nq(ξ, h) w

µν(ξ, h), %B	CC(

�T nq(ξ, h) ��� �� ������# �� �
��<� �� ����
� q �� ���#�����# h ������� 
�� &������� ξ ��
�����
����� �
 �
��#��	


� ��
����� ��������
��< #���� �������
� �
 ��
����� �������������� wµν(ξ, h) ���"�����
� ������ �� Lµν � #�	 %B	K(� �� �����
��� ��� �
"����
�����

kµ → pµ = ξP µ, sµ
l → sµ =

h

H
ξP µ. %B	CE(



$ �� �������� ������������ ����������� ���������

O�� ���#������� �
� �������� ��� ������ �������"�� ��� �#��������� ��� �� �� �#����� ��� ��
�
��< ������� 9

wµν(ξ, h) =
e2q
4π

∫
d3p′

(2π)32Ep′

1

ξ
(2π)4δ4(ξP + q − p′)

× 2[ξP µp
′ν + ξP νp

′µ − gµνξP · p′ + i
h

H
ξεµναβqαSβ]. %B	CD(

2� 
�������� ���������#∫
d3p′

(2π)32Ep′
=

∫
d4p′

(2π)3
δ
(
(ξp+ q − p′)2

)
=

∫
d4p′

(2π)3

1

2p · q δ(ξ − x), %B	CF(

�� �� ���#����� �
� ��� D ����������� �� p′� �� �"����� 9

wµν(ξ, h) =
e2q

2ξP.q
δ(ξ − x)[2ξ2P µP ν − gµνξP · q + i

h

H
ξεµναβqαSβ ]. %B	CG(

,� � ���� ��� ������ �� qµ �
 qν �
� �� ������"
��� ��� � �� ������� �>����� �
 &��� �� ��
������������ �
 ��
���� ��������
�	 ����� ����  �� �� 	������� 
!��������� ξ �!�
����"�
# �� $������� 
� %&����� x	 +��� �#��
�� �� �� ������������ �� ��#������ ���
����� �
 ��
��
�� ������������� γ∗q → q %)�
�� B	C(	 
�#�
����� %B	CC( &�
���� )�������� W µν 9

W µν = −gµν 1

2

∑
q

e2q q(x) +
P µP ν

P · q x
∑

q

e2q q(x)

+ iεµναβ qαSβ

P · q
1

2

∑
q

e2q ∆q(x), %B	CP(

�T ��� &�������� q(x) �� ∆q(x) ���� �#)���� ����� 9

q(x) = nq(x, h = H) + nq(x, h = −H), %B	CK(

∆q(x) = nq(x, h = H) − nq(x, h = −H). %B	CL(


�� &�������� q(x) �������� �� ���"�� �� �
��<� �� ����
� q ������� 
�� &������� �����
��
���� x� ���#���������� �� ��
� �#�����#	 2��� ���� �����#��  �������
 �� ��
���"����� ��
������
 %-05( ��� �������#��	 
�� &�������� ∆q(x) ���
���� �� ���#����� ����� �� ���"��
�� �
��<� �� �R�� �#�����# �
� �� �
��#��� �� �� ���"�� �� �
��<� ���#�����# �����#�	 +�
���� ��� -05 �������#��	

2� ������)��� ������������ %B	CP( �� Wµν ���� �� ������ ��� ������� � ��� ����������
�#�#���
� %B	BD(� �� �"����� ��� &�������� �� ���
��
��� ���� �� ������ ��� ������� 9

F1(x) =
1

2

∑
q

e2q q(x), %B	EH(

F2(x) = x
∑

q

e2q q(x) = 2x F1(x), %B	EB(

g1(x) =
1

2

∑
q

e2q ∆q(x), %B	EC(

g2(x) = 0. %B	EE(
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� �#�
���� �� ��
� ��������� ��� �
� ��� &�������� �� ���
��
�� �� �#������� ��� �� ��#������
�� ������������� Q2 �����
������ ���� ����
�#�� ���� �� ������ ��� ������� 	 +��� ��� 
��
����#�
���� ������� �
 &��� �
� �� ������ ��������� ���� ��� �������
���� �����
��� ��
��"��� �
 �
��#��	 +���� ������#�# &
� ��#���� ��� 7!��<�� ����� ��R��� �"����#� ���#������
��������	 O� �
��� �#�
���� ����"�� ��� �� �������� �� +�����������

F2(x) = 2x F1(x), %B	ED(

�"���
� ��
� ��� ������� �� ���� 1/2	 .� �#��)������ ���#��������� � ������ ��#��"��� �
�
�� ���� ��� ������� �����#� ��� "��� 1/2	

�� ���,�� ��
 ������
 �������� 1�0

3�
� ������� ��
� ��������� ��� ����# ��� ��
���	 +�
���� ��#���� ��� �����#�� ��� �� ��
����
�� ��
���� �
 ������ �� ���� ������"��� ���� �� ������ ��� ������� ��'	 ��#����# !
��
����	

� ������ Q2 → ∞ ������
��� αs = 0� �� ������ ��� ������� ��[& ���������� � ������� H ��
S+0	 -��6������
� ���������� � Q2 � M2 )��	 αs ��� ����� ��� �
�� �� ��� �
��<� ����
�
������"��� ����������� ��� S+0 9 ��� �
��<� ��
���� #������ ��� ��
���� �
� ��
���� �
��
�R��� �� ���#�������� �� ����� qq̄	 -�
� �#����� ��� ������������� �� ������
�� ��� �����������
S+0 ���� �� ������ ��� �������� �
� ���
����� 
�� �#�������� �� ln(Q2) ��� -05 �� ���
&�������� �� ���
��
�� �
 �
��#��� ����
��"�� ��/�� �
� #�
������ ��#���
���� �� 0�<�����
4��� ���"��� 
������� ���������� -����� %02���(	 
� �#������� �� ����� �#�������� ���
���#�����# �
� �� )�
�� B	E	

y<xxx

���� ���� �
	������� �� Q2 ��� ���� �� �
����
��� �� 	��
�� ���
���� ��������
� 	�� �� ������
	���
���
� ��
 ��������� � ����
� ���Q2 ��
 	��� 
���
�� � ����
�� �� �
����
��� ��
 �� ���
�
	��� �!�	�������� "�� �� 	��
�� ���
��� �!��	������ x � 
��� �� #����� $� 	��
�� ���
���
�		���%
 ���� ����
�
�
 �!�� "���& �!��	������ y < x �
 �!�� #���� �!��	������ x− y�
� #���� Q2� �� �� ���� ���� 	��� �� "���&� � 	�
�
 x� '� �!��
��� 
������ q(x,Q2)
��#���
� ���� Q2 	��� ��� 	�
�
� x� ����

∫
q(x,Q2)dx �� ����#� 	���


�#���
���� ��� &�������� �� ���
��
�� ���� Q2 ������ 
�� ���
�� ��������� ��� &��������
�� ������"
���� ��� ��
���	 2� ����� �� �
��< �
�
�� �� ��
��� �� ������ ��
� ��������
�� �� ���#����������� ��
� ��
�� �� ����� qq̄� �
�
�� ��� �� ������ ������� �����"�� �
�
��
��� � �����#���
� �
 �
��#��	 
�#���
���� �� F2(x,Q

2) ������ ����� ���"����� �� -05
��� �������#� G(x,Q2)� ������ �
� ����� �� g1(x,Q

2) ����� �� -05 �������#� ∆G(x,Q2)	
+��������� ��� ���������� �� F2 �� g1 ���� Q2 ���� ������� �� ��
� #���
���� �� ��
� R���
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#�
��#� ������������ �
� �� ���� ������� �� ���
��� ���� 
�� ����� �� Q2 �
>�������
�����	 +���� �� ��� ��
� F2� ���� �� ���
�� � #�# �����
#� � �� &��� ���� ��� ���#������� �
�
��"�� )�� %����� Q2( �� �
� �����������
� %����� Q2(	 -�� ������� ����� ��
� ������� �

���� �� ������� B	B	E� g1 �� ���
�� ���� ��� �#������� �� 0$. �T �� ������ �� �� �
��#�� ����
��
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� �������#�	 � �� !�
�� �� �������� ��� �� �����������
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�
&������
� ���� �������#�	 -�� ����#�
���� ��� ��
��� ���
��� �� g1 �������"��� ���
��������
��� #�# �#����#�� �
� ��"�� )��	

3!���,�� ��  ������
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�#�
����� %B	CC( ������ �
� �� ������� �>���� ������ �� 0$. ��������� ����� �� ������
�
���� ����� �� ������� �>���� �� ���
���� ��������
��< %�����

�
 ���( �� 
�� -05
�#������� ������������ �
 �
��< %�����

�
 ���(	 =����� �
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� �
� ��
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�# ����
�"��������� �� S20 �� S+0� �� �������
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��
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 ������� ��� ��� ����
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� ���
���#�  ������
������ �� �� ������ ��� �
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� ��
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� &������������ ����� �����
��� �����"��	
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� ���	

����� Γp
1� �� ������� ������ �� gp
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	�������� ��� ��������� 	��
���"���&� �� 	�������� ��� ��
���
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��	(��� �� )��
�����
����

����
�� �
������#� ��� ��� ���&�����
 �� 4��
�� ����
�#� �� ������� ����
�"�����	 O��
����
����� �#�������
� �� ��,-2 ��� ��#����#� ���� �� �#&#����� \B]	 .� ���� �� ����� � �������
H �� αs �� �
� ���� �
����� Q2 �M2� �� �"����� ��
� �� ������� ������ �� gp

1 9

Γp
1 =

∫ 1

0

gp
1(x)dx =

1

2

∑
q

e2qaq, q = u, d, s. %B	EF(

+���� ��
� ������ �� ����� aq ��� ����# � ��#�#���� �� ������� �
� �� ������ �� ����#����
�
Aµ

q = ψ̄qγ
µγ5ψq	 ���� ������#���� ��
� ���"��� ��#�#���� �� ������� �� Aµ

q �
� 
� �
��<
��"�� �� ����
� q� �����
����� p �� �� ���� s	 +�� #�#���� �� �������� ����
��"��� ��� 
��
������ ���
�� �� ��#��� �� ���� �
 �
��< 9

〈p, s| ψ̄qγ
µγ5ψq |p, s〉 = 2sµ, %B	EG(

Aµ
q ��� 
� ��
���� �	��� 9 �� �� �������� ����� 
� ���
��������
� ��� �� �������� �� �������

γ5	 
�#�#���� �� ������� �� ��� ��#����
� �
� 
� ������ �����
����� P �� �� ���� S ����
���� R��� ������������� �
 ��
� ���
��������
� ������#������ ��#��� �� �� ������� ����� �
���� ��� ����	

〈P, S| ψ̄qγ
µγ5ψq |P, S〉 = 2aqS

µ, %B	EP(


�#�#���� �� ������� �#�
�� aq ��� 
�� �
�����# ��� ����
�"������ ������#������
� �
 �J��
!�
# ��� ��� �
��<� �� ����
� q ���� �� ���
��
�� �� ���� �
 ������	

$� ��� �#�������� �� ������ �� #������� �� ���
��
�� �
 ���
�� SU(3) �� ����
� ���� ��
�������� B	EF	 
������ �� ��
����� ����
� �� SU(3) ��� �#)�� ��� 9

Aµ
j = ψ̄γµγ5λjψ, %B	EK(

�T ��� λj ���� ��� �������� �� ��������� �� ψ ��� 
� �����
� ���� �������� ��� ����
�� 9

ψ =

⎛
⎝ψu

ψd

ψs

⎞
⎠ %B	EL(
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$� ��� �����"�� �� ������������ E �������� �� ��������� ���
����#����	 ,� ������� ���
���������� λ0� λ3� �� λ8� ������������� �
� ��
����� Aµ

0 � A
µ
3 � �� A

µ
8 	 
�� #�#����� �� ���

������ ��������
�� �#�
��� �� ��� ����� ��
����� ���� ���#��������� �� ��
���� R��� ������#�
�� &������� �� au� ad �� as 9⎧⎨

⎩
a0 = au + ad + as

a3 = au − ad

a8 = 1√
3
(au + ad − 2as)

. %B	DH(

a0 ��� ��#�#���� ������� �� ����
�� ������ �
� a3 �� a8 ���� ��� #�#����� ��� ��������	 2�
����� ��� au� ad �� as �
 � ����� ��#�
������ %B	DH(� �� �� ������6��� ���� %B	EF( 9

Γp
1 =

∫ 1

0

gp
1(x)dx =

1

12

{
4

3
a0 + a3 +

1√
3
a8

}
. %B	DB(

@�������� �
� ����� �������� ��� �"���
� ��
*���
������ 
� ����� 
!�� ��
+�� 
� �������
��
� Q2 � M2 �� � ������� H �� αs	 �
� ������ �
�#���
��� Γp

1 �#���� �� Q2	 +����
�#�������� ��� ����� �� ������ ���� �� ���"�� �� ������ �� %B	DB( ��� ��� ���>������ ��
^����� ����#� �� &����
� �� a0� a3 �� a8	 +�� ���>������ ���� ��� �#������������ �� �#���
�� αs� �
� ������ B � ������� H	

�������������� ���
 �� ���,�� ��
 ������
 ��5 


� ������ ��� ������� ��[& �#���� �� ������ ����� 
� �����"�� �� �
��<� �� �� ��
���
�����#������ ��������������� ��� ����� �
� %������� B	B	D(	 0��� �� ������� �� ��� �����"��
�� ����
��� ��� #�#����� �� �������� aq �� ����� ��� &�������� �� ������"
���� �� �������
�������#�� �
 ������	 � ������ �� �� �#)������ �� aq %B	EP(� �� �"����� \C] 9

aq =

∫ 1

0

dx [∆q(x) + ∆q̄(x)] ≡ ∆q, %B	DC(

�T ∆q ������ �� ���#����� ����� �� ���"�� ����� �� �
��<� %�� �������
��<�( �� ����
� q ��
�R�� �#�����# �
� �� ������� �� ���#�����# �����#�	 +��� ��� ����4 ���
���& �
��� �� �������
��� #�
������ %B	EG( �� %B	EP(	 ����� 9

a0 = ∆u+ ∆d+ ∆s, %B	DE(

a3 = ∆u− ∆d, %B	DD(

a8 =
1√
3
[∆u+ ∆d− 2∆s], %B	DF(

,� ������
� �
� ��� ����������� �� Γp
1 %B	EC( �� �� a0� a3� a8 �"���
�� ���� �� ������

��� ������� ��[& �#��)��� "��� %B	DB(	 ,� ��
���� �� ��������� ��� �� ������ ��� �������
��� �� &��� #�
������� � ��,-2 � ������� H �� αs	 +�����#���� ���������� �� �����)������
�� ���
� �� a0	 S
���
� ���� �� ������ ������ ��
� �#����� �� ���
��
�� �
 ������� ∆Σ
��� �#)�� ����� �� ���#����� ����� �� ���"�� ����� �� �
��<� %�� �������
��<�( �� ����
��������� � ���
� �
 ������� �� �� ���� �������������	 
�� �
��<� ������� 
� ���� 1/2� �� �



�� (���� �� ���� &�

∆Σ = 2Sz
quarks� �T S

z
quarks ��� �� ������"
���� �
 ���� ��� �
��<� �
 ���� �
 ������	 ����

�� ��
+�� 
�� ������� ��'	 ,-�./�

a0
NPM
= ∆Σ = 2Sz

quarks. %B	DG(

+���� �
�����# !�
� ���� 
� �J�� &���������� ���� �� �����#������� �� �� ���
��
�� �� ����
�
 ������	 +���� ��
� ������ �� ���� ���� �� ������� �
������� ��#�
�� �� �� �#����#�������
&��"�� ��� � �#���� &�
���� a3 �� a8� ���� ��� a0	 
� ���
�� �� Γp

1 ���� 
�� ���#������ ��
0$. �������# ��� ���� �#�������� ��
� �"����� a0 ��/�� � ��#�
����� %B	DB(	

����� �������������� ������ ��� ��������  ���
�� �� a3 �� a8�

O� � �#��� ��� 
� "�� �� &���# � ������ ��� �
��<� �������
���� u, d, s �� ����������� �
������� �� ���� 1/2	 +�����#���� ��
� ���"��� �� ������ �� �� ��
����� �
� �� �����������
��� �� �
��< s	 3�
� ������ �#������� �
� �� ��������� �� ��
����� ������ gA �����������
���� �� �#����#������� &��"�� �
 ��
���� �� ������ ��� #���� � a3� �� 
�������� 
���
�����
�� � �#���� ���������	 gA ��� �#)��� �� �� ������� �
������ 9

2gAS
µ ≡ 〈p, S| ūγµγ5d |n, S〉, %B	DP(

�T 〈p, S| �� |n, S〉 ���� ��� #���� �
 ����� �� �� �R�� ���� �
 ������ �� �
 ��
����	
+���������� ����� ẑ �
����� �� ��������� ��� ����� 9

2gAS
z ≡ 〈p ↑ | ūγzγ5d |n ↑〉. %B	DK(

-�
� ������)�� �� ��������� �� �#)��� Az
+ = ūγzγ5d	 Az

+ ��� �� ���������� �
����� ẑ �
 ��
�
���� ����� �����&������ 
� ��
���� �� ������	 2� ������
����� ����#����
� I− �����&������

� ������ �� ��
����� I− |p ↑〉 = |n ↑〉� ��#�
����� %B	DK( ������� 9

gA = 〈p ↑ | Az
+I− |p ↑〉 = 〈p ↑ | [Az

+, I−] |p ↑〉 %B	DL(

,�� ������"�� �� 
�� �� SU(2) ������
� 9

[Az
+, I−] = 2Az

3 = ūγ3γ5u− d̄γ3γ5d %B	FH(

���� 2gAS
z = 〈p ↑ | ūγ3γ5u− d̄γ3γ5d |p ↑〉 ��

gA = au − ad = a3. %B	FB(

gA ��� ���
�#� �� #�
����� �� �#����#������� n→ pe−ν̄e 9

gA = a3 = 1.2573 ± 0.0028 %B	FC(

0� �� �R�� &�6��� �� �#����#������� ��� � �#���� ��������� 
� �
��< s ������ ���"�����
a8� �� �
������� ������ �� � �#���� SU(3) �� ����
� 9

1√
3
a8 = 0.20 ± 0.01 %B	FE(


�� ����
�� �� gA �� a8 ���� ���#�� �� \C]	



& �� (���� �� ����

����� ��
! ����������� �� ∆Σ

����� �� ���
�� �� Γp
1 ��� �����#������ 2�+� ��#����#� ���� �� ������� B	C	D� �� ��������

��
� ��#�������� �� ∆Σ	


� �������� �������� �
 ������ ��� �
��<� �������
����� �T �� ������ ��� &���# �� �����
�
��<� uud	 @�������� �� ����� �� ����� �
 ������ ���
����� 9

1

2
=

1

2
∆Σ + ∆G + Lq

z + Lg
z . %B	FD(


�� ��
��� #���� ����#� � �����#���
� ��� �
��<� �������
����� ��� �� ������"
��� �
 ���� �

������ �� ��� ��
� ����� �� ��� ��
� ������ ���
����� ��"����	 0� ��
�� �� �
��#�� ��� ��#���
&���������� ��
�� "���� ������������� ��������� ���
���� "�� ��� �� ����� ��
� #���#�	

� ������ �������� �� �� &������� ������ ��� ���� ���������� � �#����
� ���� ��#������ ��
��
� �
��<�� �� �� ������ ���
����� ��"���� ��� �
��<� ��� �
�	 ,� � ���� ∆Σ|NRQM = 1	
+���� ����
� �������� ��
� ������ ��[&� �T ��� �
��<� �������
���� ���� �
����#� ���
������������	 +� ����� ��� �� ��� � �����#���
� ��
� ������ �#��	 -�� ����#�
���� ��� �����
�� �
��
� ����������� �#������� ��� �
��<� ���� �� &��� ��� �����
�� �� 0����� ���� ��� �������
����������� ���� ��� �#������"���	 +���� ���������� ����������� ��� ��������� CF U \E] 9

∆Σ|QM = 0.75. %B	FF(


� ��
����� ��#�������� �
� � 2���� �� ����� ������ �
� ��� ������� ��
�� ������������ �
���
��� �
��<� #�������	 +���� � ������� ������ ����4 ���
����� ��
� ��
� �������	 -������
������� �� ���������� �� �
��<� #������� ���� �� �
��#�� ��� &��"��	 0�
���������� ���
�
��<� #������� &������ ������ �� �� ���� ��� ����������� �� �� �#����#������� �� ��
��� ��
����� ss̄	 ,�� �� ��
����� ��
����
��< �� ��
� ������� ��#��� ���#�����# ��
� �
��< ��� ��
��������� �
� �� ����� ��� �
��<� ��� �
���	 ������ ����� �� �� ���� �
� �� )�
�� B	F� ���#�
�����# �
 �
��< ��� �������#� �� ���� �� �� ����� &��������
�� �� �� ����� ss̄ ��� ���"�������
��� �������#��	 ,� �������� ���� � ∆s � 0	

s

s

���� ���� $�
�
��� ��� "���&� s �
 s̄� �!�
����

 �� �� 	���� ss̄ ��
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���	+�� ��� ��� #��
��� �
��� �
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��� �
�� ��� �
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��� ���� ����� ���
������ ���� �������� )��� 	
�� ±1� ,� �
����)���
� 	� �
�������� ����� ��� ���� ������� �� �
���� "��� 	
��������
����� �������� �
��������� 	
�� �
���� ��#������ 
�'���� ����� ��� ����-� s �� s̄�



�� (���� �� ���� &!

.� ���� �� ����� ���� �� ������ ��� �������� ��� #�
������ ��������� a0 �� a8 �� &�������
�� ∆u� ∆d �� ∆s ������
��� a0 =

√
3 a8 � 0.6� ��

∆Σ|EJ = a0 � 0.6. %B	FG(

+�� ��
� ��#�������� ���� �
������������� �� ������ 9 �� ���� ��� �
��<� ������"
� ��
������� ���������� �
 ���� �
 ������	

����� ���
�� �!����������� �� Γp
1 "#��$%��&

� ��#���
� �� �� ���
�� �� Γp
1 ��� 2�+� a3 �� a8 ������� �#!� #�# �#�
��� ��� ����#�� �
�

�� �#����#������� &��"�� ��� � �#����	 +���� ���
�� ������ ���� �����#��� ��
� �� ��������
&��� ���#������������� � a0� ��/�� � %B	DB(	 2�+ #���� ����� +,�-�.. �������#� �
� ��
����� �� �
��� �C �
 +2@3	 2��� � ���
�# gp

1 ��� �� ���
���� ��
� &������
 �� �
���
�������# ��#������ BHH�CHH ��Y �
� 
�� ��"�� �� ������� �������#� ������
���������� %����
�� ������� B	B	E(� �� �"���
 ��� ������� ������ � 
� 〈Q2〉 = 10.7 ��Y2 \C] 9

Γp
1 = 0.128 ± 0.013 ± 0.019. %B	FP(

+���� ���
�� &
� ���)��#� �
���
�� ���#�� ��
� ���� ��� .�+� � 
� 〈Q2〉 = 10 ��Y2 \D] 9

Γp
1 = 0.120 ± 0.005 ± 0.015. %B	FK(

2� �
"����
��� ��� ����
�� �� Γp
1 %B	FP(� a3 %B	FC( �� a8 %B	FE( ���� ������������ �� Γp

1 %B	DB(�
�� �"����� a0 = 0.06 ± 0.12 ± 0.17	 0��� �� ������ ��� ������� 9

∆Σ = a0 = 0.06 ± 0.12 ± 0.17. %B	FL(

+���� ����
�� "��� ��&#���
�� �
� ��
� ��#�������� ��#����#�� ���� �� ������� B	C	E� ���"��
�����
�� �
� ��� �
��<� ������� 
�� &������� #���������� &��"�� �
 ���� �
 ������	

� ��#���
�� "��
��
� &
���� ���
"�#� ��� �� �#������� ���� �� ��#������� �
 ������ ���
�
��<� �������
����	 +��������� �� ������ �#���� �� �
��#�� M�� �����#���
�N %Q2 = 0(�
������ �
� �� ������ ��� ������� �#���� �� ���
��
�� ������� %Q2 � M2(	 
� ���� �����
��� ��
� ������� ��#���� ��� ������ �������� �� ����� ��� #������ �
���� �
������ ��
!�
��
R��� ������#�	 -�� ������� %B	FL( �� ���
�� � ��
� �� ��
� σ �� �� ��#������� ��2���������
∆Σ � 0.6� #�������� �"���
� ���� �� ������ ��� �������	 +���� �� �#������� �
� &
�
�����# ���
� �� 
��� ���
 �� ���,�� ��
 ������
* $� ����� ���#��������� � ��������
�� ��������� ��� ������� ��2���� �� ����� ∆s � 0	 O�� ������������ &�������� �#������ ���
�
��<� #������� ����������� �� ���� �� �#��
��� �� ����� �� ����	 +��� ����� ���������
��� ���� ���
���&� ����� �� ��� �
 ���� �� ������ ��#�#�����	 0� ��
�� �� ��������� ������ �
������
�� �� ��������� �� ∆Σ ����� �� ������� �� �������# �
 ������ ��� �
��<� �������
�����
�� ���
� �
 ������ ��� �������	 O�� �
��� ���
���� � �� ����� �
 ���� ��� ��#����#� ���� ��
������ �
������	
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3�
� ������ ���� �
� ���������#������ �� a0 ���� �� ������ ��� �������� a0 = ∆Σ� ���
����������	 2� ����� a0 �������� #�������� 
�� ������"
���� ��� ��
��� 9

a0 = ∆Σ − 3
αs

2π
∆G, %B	GH(

�T ∆G ��� �����#����� �� �� &������� �� ������"
���� �������#� ��� ��
���� ����� � ���� ��
������"
���� �
 ���� ��� ��
��� �
 ���� �
 ������	 ,� ���� ���#��������� �
�
�� &��"��
����
� �� a0 ����� ��������
�� �
� ∆Σ ��� �����	 2� ����� �� �� ��
����� �
� �� ������"
����
�
 ���� ��� �
��<� �
 ���� �
 ������ ���� ����� ������
 ����������� ���� �
����� ����
�������#� ��� 
�� ������"
���� �������� �
 ���� ��� ��
���	

����� '(�������� �!����

@������� �
� �� �#)������ ��� #�#����� �� ������� �#�
��� aq 9

〈P, S| ψ̄qγ
µγ5ψq |P, S〉 = 2aqS

µ. %B	GB(


����
����� P �
 ������ �� ��������� ��� ����� ��#��� ������� �� ��#��� )���� ��� aq ����
�#)��� � ����
 ��� ���� ����� � ���� Q2 = 0	 ,�� ��
� ������ Γp

1 �
� aq ��/�� � ��(�������
���
��� )���������

Γp
1 =

∫ 1

0

gp
1(x)dx =

1

2

∑
q

e2qaq, q = u, d, s, %B	GC(

�� ��� �#�������� �� �
������ Q2 � M2	 
�,������� -���
�� 2�������� ������ ���� ��
������ �� ������� ������ �� gp

1� �#)�� � ����� Q2� �
� #�#����� �� ������� aq �#)��� �
Q2 = 0	 
� ���"�� �� ��
��� �� %B	GC( �� �#���� ��� �� Q2� ��� ����� #�
����� � #�#
�"���
� � ������� H �� αs %������ ��� ������� ��[&(	 � ������� B� gp

1 #���
� �
����� ���
#�
������ 0�
�-� �� Γp

1 �#���� �� Q2	 $� &�
� ����� ����
��� %B	GC( #�������� � �������
B� �� �
� ������
�� 
�� �#�������� �� Q2 �
 ���"�� �� ������	 +������� ������*� ��
� ��
&���� �� ���>������ �
����������&� ��� aq� ����
�#� ����
�"��������� �� ������ B � �������
H	 0��
��� ����� �� ���"�� #������ �
� ��� aq �� �#������� �
��� � �
� ��� �� Q2� ��� ���
���� �#)��� � Q2 = 0	 +���� ��
� ������ �� ����� ����� �>������� ����� ����� �
�� �������
H �� αs	 �
� ������ �
�#���
�� �� αs� 
�� ������"
���� �������� ��� ��
��� ������
� 
��
�#�������� �� Q2 ��� aq	

=�
� ���"���� ������ �
��� ��� �#�������� �� ������������ 
�� ��#���� ��� ������� B� ��
�
�� �#"�������� ��� ����������� ������#�� �
 ����
� ��� ���������� �� "�
���	 0��� ��
�������
� ������*� 
�� ��!���� �� ���������
����� µ� ������� ��� #���� � Q2	 
�� #�#�����
�� ������� ��
���� ����� �#������ �� µ� ����� � ���� �� Q2	 2� &���� �� ��
� ������� �
�
�
#�#���� �� ������� �� �#���� ��� �� µ �� �� ��
���� ������# ��� �������#	 +�����#���� ����
�� ��
���� ����� �� �
��<� �� ����
� q

Aµ
5 = ψ̄qγ

µγ5ψq, %B	GE(
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���� �� ����
� �� ���� �
� �� ������ 2aqSµ ��� ��������������� � aq	 
�#�
����� �� 0�����
�#��)#� ��� ��� �
��<� ��"��� �
 ������ ��� �������� ������ �� ������������ �� �� ��
�����
���� �� ������ mq → 0 9

∂µA
µ
5 = 2imqψ̄qγ5ψq. %B	GD(


����
� ���� ������
�� ��� ������������ &������ �� ��
���� Aµ
5 ��
� �� ��
���� �
� ��
��� �


������ ����� �� ��������� ������
����� ����#����# �
� �� )�
�� B	G	

5

5

γ 5

5

γ

���� ���� *������� �+����� �� ���#����� 
����#������ �� #����� ��
 
"�������
 � �� ���
�+ ����
�)
	��
���#���� 	���
����

+� ��������� �����*�� 
�� ���������������� �������� �� Aµ
5 9

∂µA
µ
5 =

αs

2π
Tr
[
Gi

µνG̃
µν
i

]
, i = 1, . . . , 8. %B	GF(

�T Gi
µν ��� ��
� ��� K ������ �� ��
���	 Aµ

5 ��#���� ��
� �������#� ��#�#���� �� ������� aq

��
� ���������� �#������ �� ��#������ �� ���������������� �� ���� �� Q2	 O�� ������"
����
��
����
� ������*� ���� ��#�#���� �� ������� ������# 9

agluons
q = −αs

2π
∆G(Q2). %B	GG(

-�
� ��#�#���� �� ������� ����� �������� �� �"����� )�������� 9

a0 = au + ad + as = ∆Σ − 3
αs(Q

2)

2π
∆G(Q2). %B	GP(


� ������"
���� ��� ��
��� � a0 ������"�� � 
�� ���������� S+0	 +��������� �� ��
�
�#������� ��/�� �
� #�
������ 0�
�- �
� �� �#�������� �� 1/ ln(Q2) �� αs ��� �������#�
��� 
�� �#�������� �� ln(Q2) �� |∆G|	 ������ a0 �������� 
�� ������"
���� ��� ��
���
�R�� � Q2 → ∞	 +���� ������ ����� ���� ��� #�
�������� �
 ������ ��� �������	 �
�
��
�#�������� �� Q2 ����� �����
#� ��
� ∆Σ ���� %B	GP(	 2� ����� �� ��
���� ���� ��#�#����
�� ������� �#�
�� ��
�

a0 + 3
αs(Q

2)

2π
∆G(Q2) = ∆Σ %B	GK(

��� �������#	
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���������� �� |∆G| ���� Q2� ���� ��
� ����� ����# � �� )� �� �� ������� ��#�#������
��
� �� ���������� �� �� ������� �
������	 
��� �� ��#���
���� ��
� �
��<� ���
���� #��� 
�
��
�� ���� 
� #��� ���#�����# ��#&#��������	 +� &������� �� �������� ��� �#�����# ��� �� �����
��� �
����#� �
����	 $� ��
� ���
��� #������ 
� ��
���
 ��
��� ��
!�
�� ���� �� �R�� #���
��#&#������� ���#�����#	 |∆G| �
������ ���� �
 ��
�� �� ��� #���
���� �� Q2	


��
���������� �� |∆G| ���� R��� �������"�� ���� �� ����� �� ����� �
 ������ ���
����� 9

1

2
=

1

2
∆Σ + ∆G + Lq

z + Lg
z . %B	GL(

∆Σ �� �#������� ��� �� Q2� ���
���������� �� |∆G| ���� Q2 ��� �������#� ��� 
��
�
���������� �� ����� �����# �� �� ������"
���� �
 ������ ���
����� ��"���� Lq

z + Lg
z	

�� ��	������	


� ���
�� �� ∆G &�
���� �� ������"
���� �
 ���� ��� ��
��� �
 ���� �
 �
��#�� �
Q2 �� ��
�� �����#������ ������#�#�	 +� �#�
����� �� ��
� ��R��� ���#������� ��� �
���R��� �����������
�� �����)�� �� �J�� �
 ���� ��� ��
��� ���� �� ����� �
 ����	 0
 &��� �� ���������� ������� ��
�������� a0 = ∆Σ �"���
� ���� �� ������ ��� ������� ��[& ������� 9

a0(〈Q2〉) = ∆Σ − 3αs(〈Q2〉)
2π

∆G(〈Q2〉), %B	PH(

2�+ �� .�+ ��� ���
�# a0 � 〈Q2〉 � 10 ��Y2	 � �� 〈Q2〉� �� �� ��
����� �
� ∆Σ ����
�������# ��� �� ������"
���� ��
����
� �#������� �� 〈Q2〉	 2� ������
����� ������� a0 �
0.17 � 〈Q2〉 � 10 ��Y2� �T αs � 0.24	 ��� �
��<� ��
���� ������ GH U �
 ���� �
 �
��#���
�� �
� ��� �������"�� ���� �� ��#������� ��2���������� ��

∆G(〈Q2〉 = 10) � 3.8. %B	PB(


� ���
�� �� ∆G/G ��� �� ��
��� �������������� �
� ��
� ���#������� 9

� +,�-�..� �
 +2@3� ������ � ∆G/G ��� �� ���
�� �� ���� �#���� ���#�����# ��
�� �#������ �� &
���� ���������
�� %γ∗g → qq̄(	 +���� ���
�� ��� �#����#� ��/�� � ��
���
���� ��
� &������
 �� �
��� �������#� �
� 
�� ��"�� )�� �� �
��#��� �������#�	 
�
�������� �� ����� ���
�� ��� �����# �� �#���� ���� �� �������� C	

� .=�@ �� -123$Z� �
� �� �����������
� @1$+� �� ��������� �� ���
��� ∆G/G ����
���� �#���� �� ���� �"���
� ���� �� �� ��������� �� ��
� &������
� �� ������� �������#�	

�� �#������� ������
��� ��� ��
��� �
 ������ ��
���� R��� ����#�� �� E ��������
���#������ 9
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� $�2�3
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�
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���������� �������
��<� ���� �� ������ ��� &��"��	

� -�#����� �� �
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�� B	P%"( X

� -�#����� �� ��
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���� �� �#����� �� ���������� �������
��<�
���� �� ������	

0��� �� ������� ���� ����� ���������� ������"
��� � �� ������� �>����� �� ���� �#����
������ ���
�#� �#���� ��� �� �#����� ��� �#������� qg →C !��� �� gg →C !���	 0�
��
�� �� ����� ��� ����
# ��� ��� �#������� qq̄ →C !���	 -�
� �������� ∆G/G� �� ��� ����
�#�������� ��������� ��� 
�� ���
������ ������+���� ������������ �������� �� ��� ��
�
� ��� �� �#�������	
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���� ��� ��
��� ��� �������#�
G(ξ, µ2)� �� �������#� ∆G(ξ, µ2) ���� �#)���� �� �� ������� �
������ 9

G(ξ, µ2) = n+
g (ξ, µ2) + n−

g (ξ, µ2), %C	B(

∆G(ξ, µ2) = n+
g (ξ, µ2) − n−

g (ξ, µ2). %C	C(

G(ξ, µ2) ������ �� ���"�� �� ��
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� ������ ����
�� �� ��
��� ����������� � 
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��� � �����#���
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�� ������"
���� �� �� �������
� � �� ������� �>���� ������ �� 0$. ����
��& ��� �#�
��� ��
�
&����
� αs ��� ������� � ����� �
 �������
� ��������� �� 0$. � ������� H� �� ��� �#�������� ��
�#���������� ��� #�#������� -�5 ��/�� � �� �#�������� �� ��
� �
 ������ ���
�#� ���
����
������
��� �� ��#��� )���	 ,�� ��� �
��<� �� ��� ��
��� �
� �#�
����� �� ������������� �������
������ �� ���� ��� �"�����"��� ������������ �
 &��� �
 ���)������ �� �� ��
��
� 9 �����
����
�
������ �� �
��#��� ��� 
�!������
��� ��
� &����� ��� ������
��� ��� �����#��	 
� �#�������
�� ��� ������� ������ ���"����� 
�� ��&�������� ��������� �
� ��� �
��<� �� ��� ��
��� ����
��� ������������ �� �������
�� �� �#������� �#���#�	

0�
� �#������ �� �#������� ��� #�#������� -�5 ���� 
�����#�� 9 �� ��������������� ��
�!���� ��(���� �� �� ��������������� ����� ����� �� !�����
 ' ������ �����/

��� ����
(��
�	 2���� ���� ��#����#�� ���� ��� ������� C	B	E �� C	B	D	 +�� ��
� �#������
��#������� �� ������
�����# �� �#���������� ��� #�#������� ��
� ����
��� ��#������

√
ŝ ����
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����"�� ���� �� ������ �� ����� �
 � ����� ������������� ��� ������ ������ �� ����� �

�
��#��	 
�#������ �
�� #���� &�
���� ��� ŝ ��
�J� �
� Q2� �� �������� µ2 = ŝ �)� �����
���
�� &������������ �
���� �
� ���� �� ����
� �� Q2	 +� ����� ��� ����������"�� ��� LHU ���
#�#������� �� +,�-�.. ���� � Q2 < 1 ��Y2	

����� *���� + ∆G/G ��� �� �
���� ������,��
��


� ������������ ��� ��
��� ��� �������� �� �� ���
�� �� ���� �#���� ���#�����# AµN
pgf �� ��

������� �>���� ������������� �
����
��#�� ��� �� �������
� -�5 9

AµN
pgf ≡ ∆σµN

pgf

σµN
pgf

≡ σµ↑N↓
pgf − σµ↑N↑

pgf

σµ↑N↓
pgf + σµ↑N↑

pgf

%C	E(

0������ �� ��#����� �� &������������ %������� B	B	D(� �� ������� �>���� �� ���
���� �
���
�
��#�� ��������� �� &������� �� -05 �
� �#������� �� ������"
���� ��� ������� ���� �� �
�
��#��� �� �� �������� �>����� ��������
�� �
� �#������� ������������� �
���������	 
����
�
���� �� ��������� �
� �� �������
� -�5� �� ������ ������� �
 ������ ��� 
� ��
��� ��

∆σµN
pgf =

∫
d∆σµg

pgf(ξ, ŝ, ...) ∆G(ξ, ŝ), %C	D(

σµN
pgf =

∫
dσµg

pgf(ξ, ŝ, ...) G(ξ, ŝ). %C	F(


����#������� ��� �����
#� �
� ξ %&������� �����
����� �
 �
��#�� ����#� ��� �� ��
��(� ŝ
%#������ �������"�� ���� �� ������ �� ����� �
 � ����� �
�����
��(� �� ��� �
���� �����"���
���#�����
�� ���� �#������� ��� �������� �>����� ��������
��� �
� 
�� �������� �#���� ��
�������� ��� ������	 ,� ������� ���(��� ������%
� ���� �#���� ���#�����# ��������
� �

�������
� -�5

âpgf
LL ≡ d∆σµg

pgf

dσµg
pgf

, %C	G(

�T ��� ������� LL �����)��� �
� �� �
�� �� �� ��
�� ���� ��
� ��
� ���� 
� #��� �� ����
������
�����	 ,� ��
� ����� �##����� ��#�
����� C	E ����� 9

AµN
pgf =

∫
dσµg

pgf(ξ, ŝ, ...) G(ξ, ŝ) âpgf
LL ∆G(ξ, ŝ)/G(ξ, ŝ)∫

dσµg
pgf(ξ, ŝ, ...) G(ξ, ŝ)

%C	P(

2��#�������������� �� ���
�� �� �� ���� �� ∆G/G ���� �� �#���� �� �������� ��� ������
������#�#� 9

AµN
pgf =

∫
dσµg

pgf(ξ, ŝ, ...) G(ξ, ŝ) âpgf
LL∫

dσµg
pgf(ξ, ŝ, ...) G(ξ, ŝ)

×
〈

∆G

G

〉
%C	K(
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��� *����� ∆G/G

�)� �� ������)�� ��� ���������� �� ������
��� �#������� � ������� ∆G
G

����� ����
� �� ����	
-�
� ���"������ �� ����� � ����
��� �� �
�����#

〈âpgf
LL 〉 =

∫
dσµg

pgf(ξ, ŝ, ...) G(ξ, ŝ) âpgf
LL∫

dσµg
pgf(ξ, ŝ, ...) G(ξ, ŝ)

. %C	L(

+� ����
�� �#����# ��/�� � 
�� ���
������ ������+����� &��� ���������� �� &������� �� ������"
�
���� ��� ��
��� ��� �������#� G(ξ, ŝ) %�#!� ���
�#�(� �� ��� �������� �>����� ���#����������
dσpgf �� d∆σpgf %����
��"��� �� S+0 ����
�"�����(	 5��������� 9

AµN
pgf = 〈âpgf

LL 〉∆G
G

%C	BH(

.� �� ��
���� ������ �� �� �� 〈âpgf
LL 〉 ��� �
�� �� ������� �>���� ��������
� ����� ��� �����"��

� �� ����
� �� ���#�����# ��� ��
��� �� ∆G/G ����� ��� ���
��"��	

����� ���
�� �!����������� , *��������� �� ��
! �� ��������

+���� �� ��� �
 ���� �� ������� ��#�#������ �� ������������ ��� ��
��� ��
� R��� ��������
�� AµN

pgf � ���� �#���� ���#�����# �� �� ������� �>���� ������������� �
����
��#�� ��� &
�
���� ���������
��	 O�� ���#������ ���
�� 
� ���"�� ��#�#������� N � ������������� � ��
������� �>���� 9

N = LσµN . %C	BB(


� ������
��� L ��� ������#������
� �� �������������� %&������
� ��"�� �� �#�����
��(� ��
�#���� ����� �
���� �� ����������# �
 &������
 �� �
 ����� �� ����� �� ����#��	 2� ���
����
��� ���"��� ��#�#������� N↑↓ %N↑↑( ��
� ����
��� �� ������������ �� �� ��"�� ��� �������������
%���������( � ����� �
 &������
� �� ��
� &����� ���
%������ �� ���	 �� ��������

Aexp =
N↑↓ −N↑↑

N↑↓ +N↑↑ . %C	BC(

.� ��� ���
��� �� N↑↓ ��N↑↓ ���� �#����#�� ���� �� �R�� �
�������#�Aexp ��� ���������������
� ���
%������ �� �� 
������ �&���� A‖ %���#� ����� ��� �� ��������� �� ������������ ��
�� ��"�� ��� ��������� � ����� �
 &������
( 9

Aexp = PµPcf
σµ↑N↓ − σµ↑N↑

σµ↑N↓ + σµ↑N↑ ≡ PµPcf A‖. %C	BE(

0��� ����� ����������� σµ↑N↓ %σµ↑N↑( ��� �� ������� �>���� �� ���
���� �
����
��#�� �"���
�
� �����
� �� ���� �
 �
��#�� ��� ������������� %���������( � ���
� �
 �
��	 Pµ� Pc �� f ����
�� ������������ �
 &������
� ����� �� �� ��"�� �� �� &����
� �� ���
���� �� �� ��"�� �
� ����
��
�� &��� �
� ��
�� 
�� ������ ��� �
��#��� �� �� ��"�� ���� ��������"���	 +�� ����� &����
���
��
� ������� ����� H �� B� ���
��� ���� �#���� A‖	
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A‖ �������� �� ������"
���� �� �� &
���� ���������
��� �� 
�� ������"
���� #����
���� �
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A‖ =
σµN

pgf

σµN
AµN

pgf +

(
1 − σµN

pgf

σµN

)
AµN

bruit %C	BD(

σµN
pgf �� σµN ���� ��� �������� �>����� ��� �������#��	 2� ������ S �� ���"�� ��#�#�������

-�5 %�� ������(� �� N = N↑↓ +N↑↑ �� ���"�� ��#�#������� ������ σµN
pgf/σ

µN = S/N ��� ��
&������� ��#�#������� -�5� �
 �� ������ �� ��#����������	 .� ���� �
����� ��
� ������)��

�� �� �#���� �
��� ��
� �� "�
�� �� &����

A‖ =
S

N
AµN

pgf . %C	BF(

2� 
�������� ��#�
����� ��#�#������ ����� �
� %C	BH(� %C	BC( �� %C	BE(� �� ������� �� ���������
���� ��� ��
��� �� �� ���
�� ���#��������� �� ���� �#���� �� ��
� �� �������� 9

∆G

G
=

1

PµPcf〈âpgf
LL 〉(S/N)

× N↑↓ −N↑↑

N↑↓ +N↑↑ . %C	BG(


�����
� ���������
� �
� �� ���
�� �� ∆G/G� ���� �� ������ Aexp 
 1 %����� � ���� N↑↓ �
N↑↑ � N/2(� ��#���� 9

δ

(
∆G

G

)
� 1

PµPcf〈âpgf
LL 〉(S/N)

× 1√
N
. %C	BP(


�� &����
�� Pµ, Pc, f, 〈âpgf
LL 〉, �� (S/N) !�
��� 
� �J�� ��
���� ���� �������� 
����
��-��

�
� �� ���
�� �� ∆G/G	 $�� ���� ��
� ������� ����� H �� B� �� ������������� ���#��������
���� δ

(
∆G
G

)
� ������������� �
 ���"�� ��#�#������� ����� N �
� ������"
� ��� �� ������

����#�	 $� ��� ���� ��������� �
� Pµ, Pc, f �� 〈âpgf
LL 〉 ������ �
��� ������� �� B �
� �����"��

�)� �� ��������� δ
(

∆G
G

)
	 � ����� ���������� ��
"��� �� ������������ �� �� ��"�� #�
���
� �

��������� �
���� &��� ��
� �� ����#��	 
� �#������� �� -�5 ��W
� �
� ��� &����
�� S/N ��√
N 9 ��
� �� �#������� ��� �#����� ��
� S/N �
������ �� ��
�

√
N �����
�	 
�� ����������

�� �� �#������� �#�
����� ���� ��
� ��������� ����� �� �
���# �� �� ������ �� ��#����������
��#�#������� �#��������#	


� �#������� �� -�5 ���R� #�������� 
�� ������ ���������� ���� �������� 
%
������-��
�� �� ���
��	 2� ����� ��
� �"����� ��#�
����� %C	BF(� �� � �
����# �
� ���� �#���� �����
��#� �
 "�
�� �� &��� ��� �
���	 2� &���� ����� � ������� ��� ����������	 0��� �� ��� �� ��
���������
����� �� ������ �
����� �� "�
�� �� &��� ��
� R��� �#��������#	 
��� �#���� �

"�
�� �� &��� ��
� ���� R��� ���
�#� �� ����� �� ������ %������� C	B	E(	 +� ����� ��� ����
��"�� ���� �� ��� �� �� ���������
����� �� ������� � ����� pT %������� C	B	D(� ��
� ���
��
���� �#���� �
 "�
�� �� &��� ���� R��� �����#� �
 �� �� ��
�� ���
������ ������+����	 
��
����
�� � ��#�����
�� �
� �� ���
�� �� ∆G/G ���� ���� ��
� ����������� ���� �� �������
���	



�"
,���(��� �� �� ������ �� �� ������������

��� *����� ∆G/G

����� %�������� �� -.
 ��� �� ���������
����� �� ������ �
/���

+���� �#����� �������� � �#���������� ��� #�#������� ��
� ����
��� 
� �
��< �����# c� �

c̄� ��� �#����# ���� ��#��� )���	 ,� �� �#����� ���� �� �
��� �
� �� ��� �
 c� ���
� �
 c̄ #����
�"���
 ��� ���!
������ �� ������	 0
 &��� �� �� ����� #���#� %∼ 1.5 ��Y(� �� �
��< c �

�� ���"�"����# �#������"�� �� �� ���
��� ������������ ���� �� �
��#�� �
 ��R��� ����
��
���� �� ���������������	 � ������� αs� �� ��#����� �� ������ ��� ���� ������#������
� ���
#�#������� �� � �� -�5	

0��� GH U ��� ���� �� �
��< c ����������� �� �#��� D0 �
� �����
�� �
���
�� �����������
����� �� �� �#����#����	 
� D0 ��� ������)# ��� ��� ����
��� �� �#����#�������� �� ����� ��
��
� &�����"�� #���� D0 → K−π+ �� ������� �� "���������� R = 3.80 ± 0.09 U	 
��
#�#������� ��������� 
� D0 ���� ���� �#��������#� �� ����������� ����� ��� ������
���
�#����#�� 
�� ���"������� K−π+ �� ����� ���������� �������"�� ���� ����� �
 D0	 3�����
�
��� ����� ��� �����"�� ��������)�� ��� D0 ��� �� ���
�� �� �� �������� ����� �� ������
�������� �� �� ������ K−π+� ��� �� �#���
���� �
� �� �������� ������
������ ��� ������ �����
�
� ��������� B �� � ��
�� �� �� ���
���� ��
���"����� �
������ ���� �� ��"�� �������#�	

2� ������
�� 
� #�#������ 0$. �������� 
� ����� ���"�� �� K− �� �� π+� �� ��
��� ���
���"�������� �����"��� ���� ����#��	 ,�� ��������� ������� ����� ��
���� ����#��� 
�� �����
���������� m(K−π+) � m(D0) ���� ��
� �
���� �������� �� �� �#����#������� ��
� D0	
+�� ���"�������� &���
���� �������
��� 
� "�
�� �� &��� ���������� �����# "���� ���/
"��������	 ,� ��
� &���� ������*��� �� ������� ������ �
� "�
�� S/B ���� ������������ ��
������
� ���������
� �
� ∆G

G
� #�
����� %C	BP( 9

δ

(
∆G

G

)
�
√

1 +B/S

PµPNf〈âLL〉 ×
1√
S
. %C	BK(

�)� �� ��������� δ
(

∆G
G

)
� �� ������� � ��������� �� ������� ������ �
� "�
��	

0��� �� "
�� �� ��� ��
� ���"��� ��
���� �� �������� � 
�� "���� �#���
���� �
� �� �����
���������� �� �� ����� K−π+� �� �
� ������ �� ��������� �� &��R��� �� �#������� �
� �� ��� �

D0 �)� �� ������� �� "�
�� �� &��� ���"��������	 0�
� &����
�� ��� 
�� ��W
���� ������
�
�
� ����� �#���
���� \G] X �� ������ �� �� ���
���� ��
���"����� �
������ �
 K− �� �
 π+

���� �� ��"�� �
� ������
�� 
�� ����
� �
� ������� �� ��
�� ���!��������� �� �� �� �#���
����
�
� �� ���
�� �� ��
� ���
����� ���� �� ������������ %������� C	C	E(	

2��
���� �� ������
� ��� ��
�
��� ���#�����
�� � �� ����� K−π+	 ,� �#��������� ��� #�#�
������� ��
� ����
��� ������� ��#������� θ∗K �
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���� ������������ #���# %f � 0.4(	 3����� �
� �� &����
� �� ���
���� ����� ��� #��� � H	F
��� �������� ���
# ����� ��� ����
�#� �� ���#���
 ��������"�� ��� ������ ��� ���#��
� ���
���
�
 �#&���#����
�	


� ��"�� ��� �����#� �� ���	 �������
 �� ������
�����
 ����
��
� �#����#�� ����� ��
�$��	 +�� ��
� ����
��� � �������
�� ���
���� GH �� �� ���� ��
� 
� �� �� �� B	F ��	 +�
�� �� ��� �
>������� ����� ��
� �
� �� ��"�� ���������� �� ��
� ������ ������ �
 &������

%σfaisceau = 7 ��(	 
� �� �� ��� �#������� �����# ��
� �#�
��� �� ���
���� �
������ ����
�� ��"�� ��� ������� ����
��� �
 ��
�� �� �� �#������	 
�� ��
� ����
��� ���� �#���#�� ��
��
�� ���
��� ��
�� �������� �� BH ��	 0������� �� ��
� ����
��� �� ������������� �����#��
������ �� ���
��� ���
����#���� ��� ��
� �� ��������� N↑↓ �� N↑↑ ����������� ����
������������ �� ���� �#���� �� ��
� �� �������� Aexp� #�	 %C	BC(	 .� �� ��"�� �� ����������
�
�
�� ��
�� ����
��� �� ������ �� �������� �����"�� �� ���
��� �
������������ N↑↓� �
�� N↑↑

����� ������������ �� �� ������������ �� �� ��"�� �
 �
 &������
	 +��������� �� &�
�����
��
� ���� �������� ��
�� ���
�� �
>������� )�"�� �� �� �
�������# ������������� � N↑↓

�� N↑↑	


� ������������ �� �� ��"�� ��� �"���
� ��� �� �������
� �� ������
����� �%����-�� ��/
������� %��
� 
�� ������
����� �#�������
�� ���� �� �#&#����� \P](	 +���� �������
� ��������
� �������� �� ���#���
 ��������"�� ���� 
� &������
 ��#�������� ��
� ��#�� ��� ������� ��0
������*�� ��� %��� #�������� �#��"�������( ���� �� ������� �� 6
�0	 +�����#���� �� � �����
&���# �� ��#������� ��
� ������ ��������#���
� �� ��
� ��
��� ���
# � ��������#� �� ����
���� ��
� ��� �� �
����)������ �� ��������� �
 �����	 
� ����� ����#���
� � ��
� �����
���������� 9

� ������ _����� ���� �� �#�#�#�������� ����� ��� ���#����� #���� �� ���� �
 � �����
#����������
��� X

� ��#������� ����#���� 
� ������ ����#���
� "��� �
�#���
� � ���
� �
 ��
���� �� ��
�����
�� ���#��������� ���� 
� #��� �� ������������ > 99 %� ������ �
� �� ��
���
����� ���� 
� #��� �� ������������ < 1 %	


� �������� �� �� ������������ � �����
� �
��#���� ��� �� ����������� �� ������������ ���
#�������� �
� ��
���� ��� 
� #������ ��#���� �� ����� ��/�� � ����!������ ��
�� ����������
�� &�#�
���� �������"������ �������	 ����� ����� �������� ��� #��� �� ���� �
 ��
����
��#������� ������� ���#��������� ���� ��� #��� �� ���� ��#&#�������� ������ �
� �� ��
����
���� �� ����� �� ���������� ��� ��������� BHHH ��
���� ����� ���� ��� ��
��� #��� �� ����	
2� ������
��� 
�� ���������� �� &�#�
���� ���#����� � �� ��
����� ����
��� �� �"����� ��
������������ �����#�	

+���� �� ���#��[�� ���R�� �
 �#��� ��� ������� ����
��� ���� ��� �#������� ����� �� &������

�� ��� �
��#��� �� �� ��"��� ������������ �� �� ����
�� ����� ��� ��
� &��"�� �
� ����� �� ��
����
�� ���� %)�
�� C	G(	 0� �� &���� ������������ �� ���� �#���� �� �� ������� �>����

A‖ =
1

PµPcf

N↑↓ −N↑↑

N↑↓ +N↑↑ = − 1

PµPcf

Nm −Nv

Nm +Nv
%C	CP(

��� "����#� ��� 
�� �� �#���� ��������� �� �� ���#����� ������������ ����� ��� ��
� ����
����
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��� �� )������� �
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� ����������� �
%������ ������������	 �)� �� ���� ���������� 
�� �������� ��
�!��� �������-�� �B �� BKHo ��� �����
#� ��
�� ��� �
�� ��
���	 +���� �������� ���
�����
#� ��/�� � 
� ���J�� ����#���
� �
� ��������� 
� ����� �� H	F =� �
>�������
#���# ��
� �
� ��#��� �� ������������ ��� ��
� ����
��� �� ���� ��� �����# 9 ��� ����� �
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����������

���� �� ������� ����� ���������� � �� ���)�
������ �� �� )�
�� C	P	%�( � �� �� ��
�����
� ����� �� �� )�
�� C	P	%�( 	 +������������ � A‖ �
� ��� 
�� �� �#���� �� ���
�� ���� �#�
���� ������������ �� �#���� ��� �� ������������� ��� �����	 ������ �
 &��� �� �� ��#�����
�
 ����� − ����� ��� ��
� ������� ������������ %C	CK( #������ ���� �#���� ������������� ��
�� ���� A‖ �
� ��� ��
� ���)�
�������	


� ������������ �� ��
���� �� ��
� #���#� �"���
� �� CHHC ��� �� +54.2% ��
� �� ����
��
���� ��� ����� ���� ���������� �
 ����� ����#���
�� �� �� −47.1% ��
� �� ����
�� ���� ���
����� ���� �������������� \K]	
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� ��� ������)���

� �#�������� �� �������� �
 ����� �������������	 $� &�
� �� ������
���� �#�������� �� ����
��
���� ���
���� ������������� � �
 ���
	


����
����� ��� ������
��� ��� ���
�#� ��/�� � 
� ���������& �����# ������������� ���� ��
�������� �� &������������� ��� �����# ���� �� ������ C	C	E	B� ������ �
� �� ������ C	C	E	C
������ �� ��� ��#��)�
� �� +,�-�..	 
� ��������
����� ��
�� ���!������� �������� � �#�
�������� ��� F ���������� %�������� ����4������ x� ��������� y� ����������� ����4������ θx�
��������� θy� ������� ������I���
����� q/p( ������#� ���� 
� ���� �� �#&#����� ���
# !
���
����� �� ��"��	 0��� �� ������ C	C	E	E� ��
� ��
� ���#��������� � �� ��������
����� �� �� ����
!������� �
 �
�� ��������	 
� ������ C	C	E	D ������ �� �� ��������
����� �
 ������ ��������
�
� �������� � �#�������� ��� ������
��� � ��� ��������# � �������������� �� �� �������� �

����� �������������	 2�)�� ��
� ��������� ���� �� ������ C	C	E	F ��� ���#������ �#������
��������)������ �
� ����������� �
� �� ���
�� ��� ������
���	

�*�*�*
 �������� ��  ������������� ���� 
�������,���

O� ������������ ��� 
� ���������& ���������� �� ���
�� �
 ������� q/p %������I���
�����(
��
�� ������
�� �����#�� &���# �
� �� �������� �
�����	 
����
�
�� ������
�� �����#� �����
�
����� p �������� 
� ������ �#�#���� 
� ����� ����#���
� �B� ���� ��� ��
���� � �� &����
�� 
�����4�

�F = q�v × �B. %C	CL(

+���� &���� ��
�"� �� ���!������� �� ������
�� �� 
�� �#���� �� �� �� R	 .� ���� �� �����
��
� ������)�� ���� �� ��� ������
���� �T �� ������� �������� ��� ���������
����� �
 �����
����#���
�� ����� �#���� �� �#�
�� � 
� ��� �� ������ %���� )�
�� C	K(	


� ������� p/q %��YI�( ��������� �� &������� �� B %=����( �� �� R %�( �� �� �������
�
������ 9

p

q
= 0.3BR. %C	EH(
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q

p
=

θ

0.3BL
. %C	EB(

q/p ��� ���� �"���
 ��� 
�� ���
�� �� ������� �� �#������� θ� �#����#� �� ��������
����� ��
���!������� �� �� ������
�� �
 �� �� �� �#�����
�� �� ������	 
���������
�� ���������
� �
�
����� ���
�� �#���� �� �� �#���
���� �
� �� ���
�� �� θ 9

δ

(
1

p

)
=
δp

p2
∝ δθ. %C	EC(


� �#���
���� �
� θ �#���� �� �� �� �#���
���� ��� �#�����
�� �� �� �� ���
���� �
������
��
���"����� �� �� ������
�� ���� �� ������� ���
#� �
� �� ���!������� \L]	

� .� ���� �� ��������� �
� �� ���
���� �
������ %�#���
���� ��� �#�����
�� ���&����( 9

δθ ∝ 1

p
, %C	EE(

⇒ δp

p
= constante . %C	ED(

� .� ���� �� ��������� �
� �� �#���
���� ��� �#�����
�� %��� �� ���
���� �
������( 9

δθ = constante, %C	EF(

⇒ δp

p
∝ p. %C	EG(
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������ �� �#���
���� �
� �� ���
�� �� �����
����� �� �#�����	 $� ��� ����� �#�
�������� ��
������� 
� ������ � ������ ���#����� �� ������ BL� �� �� �������� ��
� "��� ��
������ ��������� ��
� �� �#������� �� �� ������
�� ����� �� ����� ��������	
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 ���<�������
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 �� ��"��


� )�
�� C	L ��#����� 
� ���#�� �
 ������������ +,�-�..	 �)� �����
��� �� �#������� ��
������
��� ���� 
� ����� ������� ���
����� �� 
� ����� ������� ��#������� �� ������������
�������� ��
� #����� �
������&�� ������
��� �
��
� �� ��
� ������� ���������� 9

� 
� ��� %1���� 2���� 3�����������( �������� 
� ������ ��������� �����# .�B� �
�
������� 
�� �
����
�� �� ±BKH ���� �� 
�� ���#����� �� ����� �� B =�	 +� ��������
����� ��� ��������"�� �� �� �#������� ��� ������
��� #����� � ����� ������ �
 �� "����
���
����� %0.5 GeV /c < p < 5 GeV /c(	

� 
� ��� %3���� 2���� 3�����������( �������� 
� ������ ��������� �����# .�C� �
�
������� 
�� �
����
�� �� ±EH ���� �� 
�� ���#����� �� ����� �� D =�	 +� ��������
����� ������� 
�� "���� �#���
���� � ��
�� ���
������ ���� �� ��
� �#������ �
� ���
������
��� #����� � ����� ������ �� �����
����� p > 5 ��YI�	
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� �� ��� ��V�� �� ������
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�� ����� ������� ���
����� �
 ������������ � #�# �����# �� ����� �#����� ����������
��� �
�����#���
� ����
����� ��� �#�����
�� �� ������ %���� ��� ���&�������� ���� �#�
�#�� ���� ��
��"���
 C	B( &��� ����� � ��� �������
�� �� �#������� ���#������	


� �#���� =��3 %4��� 3���� 2��� 5�������( ��� �� 4��� �� �
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�� ��2 �������#� ��� ��
&������
	 
� �#�������  ��� �#����#� �
 �� �� �� G �������� �� )"��� ������������� %5$( \BH]�
���� �� ������ ����� ����� 4 × 4 ��2 �� 12 × 12 ��2	 +�� G ��������� �#������� �
� ��
�� ��
����
�
� �
 ������������� !�
��� 
� �J�� ��������� ���� �� ��������
����� ��� #�#�������
�� &
���� ���������
��	 2� ����� �� ������� �>���� �� �� �������
� ��� �������� � Q2 � 0	
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�� �������� &������� �� ��� ���
����� �
 ��
�� �� ��������������
�� )��� ��� R��� �#��# ���� �
 &������
 � �� �������#� �� .�C� ���� �����#����� �� ����� ���
����������	 ����� .�C� ��� )"��� ������������� ���� ���� ����������"��� � �� ��������
�����
�� �� ���!������� �
 �
�� ���
�#	 ����� .�C� �� ��������
����� ��� �#����#� ��/�� �
�
�#�����
�� �� �� �#���� .�=	


� �#���� ��3 %3���� 2��� 5�������( ��#���� !
��
�� 
�� �������� �
 &������
 �� �
���
��
��4����� �� ��	 
�� �#�����
�� .�= ��������� 
�� 4��� �������� ��������� ������������� �
�� �#���� Y.�=	 
� �#������� ��� �#����#� �
 �� �� �� �#�����
�� ��4�
� � ������������ ��
� �� ������#��� \BB] �� �2� \BC]	 +�� ��
� � ��� �� �#�����
��� 
�����#� ��
� �� ��������
&��� ���� 
�� ���#������ �� �� ���
� � ��
�� #������� ��� 
�� ���
� �
 W
� "��� �
�#���
��
�
� �#�����
�� ��4�
� � ����
�� ��� )� %���� �� �������� D(	 
�� BC ����� �� ������#��� ����
���
�#� �� E ��������� ����#�� ����� �� ��"�� �� .�B	 
� 4��� ������ �� ��� �#�����
�� ��� ��
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:�"��
 ������������
 H	D � H	P BCH � CHH H	F
�������� H	HF BH E	H
���������
 H	EG � H	DC LC BH
2)� H	D PH BF
�!��"��
 ' ����(� P CEH �
������
 ' ����(� G � BH CPH �
�4�� C GHH BHH
>���
����
 F	D � BDH B	G �� � DH �� C

���� ���� ���)�������� ��� �

��
���� �� �	��
����
���

40×40 ��2� �� �� 4��� �������� �������� ��� �� F �� �� ��������	 
�� ������ ���� ������#��
���� 
� ��� �� EGH µ� ���� �� �#���� �������� �� �� DCH µ� ���� �� �#���� ������� �T
�����
������ �� ��#���������
� ��� ��
� &��"��	 
�� ������#������
�� ��� ������#��� ������
�#�����#�� ���� �� �������� F	 
�� CH �#�����
�� �2� ���� �������#� �� ���� �� .�B	 +���
�
������� �� �2� �������� ��
� �#�����
�� ������#� � DFo ��
� �� ���
���� ����������
����
� ��
� ����� �� ������ ������������	 $�� ��
����� 
�� �
�&��� �� 30 × 30 ��2� ����

�� 4��� �������� �������� �� F �� �� ��������	 
� ��� ��� ������ ��� �� DHH µ�	


� �#���� ��3 %1���� 2��� 5�������(	 
�� �#�����
�� 
�= ��������� 
�� 4��� ��������
��������� ������������� � �� �#���� .�=	 
� W
� �� ������
��� ���� �� �#���� 
�= ���
�
>������� &��"�� ��
� ��������� ��
���������� �� �#�����
�� ��4�
� � ����
�� ��� )� 9
����"��� � �#���� \BE]� ������� � �#����� ����"��� ���������������� %�^-+(	 
�� E ����
����� �� ����"��� � �#����� ���������� ����
�� K ����� �� )��� ���� �������#�� !
��� ��
����� �� �� ���� �� .�B	 2���� ��������� 
�� 4��� ������ �� 140 × 120 ��2� �� 
�� 4���
�������� �������� �� EH �� �� ��������	 +�� ����"��� ��� #�# ������
���� ��#���������
��
� &���������� ���� �� W
� �� ������
��� ��������� �� +,�-�.. 9 �������� ����� ��� )��
&��"�� ��
� 
�� ����"�� � �#���� %P ��( �� �#����� ��4�
� ������ %CH ��I��(	 
�� BF
��
"�����
���� �� ������� � �#���� ���� �������#�� ����� .�B �� .�C	 +���
� ��
"�����
���
��� 
� �����"�� �� ������� � �#���� %)� ������� ����
 �
� ����� ��
� �
"� �� �������( ����#��
��� 
��� ������ ��� �
����	 
� �������� �
 �
"� ��� �� BH �� ���� �� ������ ������� �

�#�����
�� �� �� G �� ���� �� ������ ������� �)� �� ��������� �����
������	 
�� ������� �
�#���� ��������� 
�� 4��� ������ �� 320× 260 ��2� �� 
� ���
 ������� �� 20× 20 ��2	 
��
BB �������� �� �^-+ %ED �����( ���� ������#�� ����� .�B� �
� 
�� ����
�
� �� DH �	 
�
4��� ������ ��� �� 170 × 120 ��2 X �� �������� �� �� 4��� �������� ��� �����# � �� ������ �

&������
� �� ����� ����� BG �� �� CC �� �����
� ���� ��#������ �� �� ��"��	 
� �������� �����
��� )�� ��� �� C ��	


�#�
��� +,�-�.. �� .���� � �#������# �� ������
�� ��� BC �#�����
�� ������#���� �����
�
� ��� ����� �������� �� ����"��� � �#����	 2��� ��� ���� ��������"�� �� �� ��������
�����
.�= �� 
�= ����� �� ��"�� �� .�B� ����� �
� ��
�� ������ �� �� ��������
����� 
�= �� ����
�� .�B	
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B	 ,� ��������� ��� �������� �� ������ � �����#���
� �� ����
�� ��� ?���
 �
 ��������
�����	 +�� 4���� ���� �����
#�� �
� �� )�
�� C	L X ����� ���� �#)���� �� &�6�� � �� �
�
��� �������� �� ������ ������ ��� ������ ������
����� ������� %
�� 4��� �� ���� ���
�������� 
� ������ �T 
�� ������ �
�����# �� �������(	

C	 
�� �������� �� ������ ���� �������#� ��� 
�� �
� �
���� ����� ��� ���#������ 4����	

E	 
�� ������ ���� �!
��#�� ���"������� �� ������ ������ �� �� �
�����# �� �������
�������#�	 +��� &�
���� ��� F ���������� %x, y, θx, θy, q/p( ������#������ ����
� ������
���� 
� ���� �� �#&#����� ���
# �
 �����
 ��� �������� �#�����
�� �
 ������������
%!
��� �������� �� ��"��(	


��� ��� ��
� ��������� #������ 
�� ������������ ��#���� ��� ������ ����#���
�� �#�#�#�
��� �������� ���#��[��� �� �� ��"�� �������#� �� ��� ��� ���J��� .�B �� .�C ��� �#��������	

� ����� �� �!��� �������-�� � #�# ���
�#� ����� ��� ����� ��
� ��� ����� ��������
�
�� 
�� ������������� � #�# �#����#� ����� ��� ������ �� ���
��	


�� ���&�������� �� �� ��������
����� ��� #�# #��"���� ��/�� � �� ���
������ ������+���� ��
+,�-�.. \BD]	 
��>�����# �� ���� �� ��������
����� ��� ������ ��� �� LH U	 
� �#���
����

�
� �� ���
�� �� 1/p ��� δ
(

1
p

)
= δp

p2 � 1.5 10−4 ��Y−1 ��
� ��� ������ �#����#�� ���� ���

��
� �������������� �� ��������� 1.8 10−3 ��Y−1 ��
� ��� ������ �#����#�� 
���
����� ����
�� .�.	
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�������� �� ���� ��������


����
����� ��� �
��� ��� ���
�#� ���� �� 7�. %%��� .������� 3������(� 
� ��������
����� ���
# ������� BHH � �� ����� �� �� ��"�� �������#� �� +,�-�..� �
� �� ����� ��
&������
	 +� ������������ ��� ������
�� �
��
� ��
� ���J�� �#����� �� &������
 ���� �� ����
��������	 0� ���� �� ���
��� �
 ���J�� �� ���
���� D ����� �� �����������
�� �������
�� %C ��
������ C �� ����(� ���� ��� #�#����� ���� ����4����
�	 +�� ����� &�
�������� 
�� ���
��
�� ������� �� �#������� �� ����
� �
�� ���� �� ���J��� � ������ �
�
�� �����
����� ���

�#������#� ���� 
�� ��#������ �� δ
(

1
p

)
= 3.1 10−5 ��Y−1	 -�
� 
� �
�� �� BGH ��Y� ����

���������� � 
�� ��#������ �� H	K ��Y	

�
��� �� ����� �� �� ��"�� �������#�� 
� �����"�� �� ����� �� )"��� ������������� �� ��
�#�����
�� �
 ������
� ������ �� ���
��� �� �������� �� ������������� ��� �
��� �
 &������

%x, y, θx, θy(	

�)� ���������� 
�� ���
����� � 
� ������� �� ����� ����#� �� &�
� �#�������� �� �����
�������������� ���� �� 7�.	 0��� �� "
�� �� ��������� ����� ��� ������ �� �� 7�. ������
�
� ���� �� ��[�������� ���������� ���� �� ������� �� ����� ������#�#	 
�#�#������ �����
�������# �
� ���� �������� 
�� �� 
�� ��
�� ���"������� ��� ��"��
` ����� 
� ������� ��
����� �� ����� �� �� ��"�� �� 
�� ����� 7�.	
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� �� )�
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O�� ������)������ �
���#�������� ��� �#����#� ��/�� �
� ������������ ��������
��� �
� ����
����#�#� ��� #�������� ��� ��� �
�� �� ����"	 O� ����������� ��������
� ������ �� ���
�
��� ��#������ ������ ��� �������	 $� ��� �������
# �� ����
��� �� ������� ����#�� ����
�� ��
��#������� ��
� �� &���� ��
�� "�*�� ���� ���
���� ���� �����#�� ��� ����
�� �� ����" ��
���������� ���� ��� ����
�� �� �����������
�	 +�� ��������� ���� �������#�� ��� )"�� �����
�
� 
� �
"� �������
����������
�	 
�� ������� �
� �#������� ���� �� ����������� ���������
�� 
�� ���"� !������-��� �#�#���� 
� ������ ������������� � ��
� #������	 �
 ����������
��� �
��� ���������� �� ����������� �� �#������ ��� ���������� 
�� &��"�� &������� �� ��
�
#������� �
� �#���� 
���
����� �� �� �
�����# �� ������� �������#�	 $� ��� ���� �����"��
�� �#����� ��� ������� ��� �
��� �� #�
����� �� ��������� �� ��#������ ���
�#� ���� ��
����������� �� &������� �� �����
����� �� �� ����� �������������� %)�
�� C	BC(	
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����� �� ������ �
���� %������� C	B	E(	 +���� ������)������ ��� �#����#� �

�� �� ��
� @$+1 %���� 6������ 7�������$(� ���
# �� ���� �� .�B \BG]	 ,� �� �#�����
��� �� &������������� �� �� �#�����
� ��� �� �����#����� ���� �� ������� � �� �#������� �

�������
� -�5 ��� �� ���������
����� �� ������� � ������ ���
����� ����������	
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��R��� )�"���� ������� �������� %��� �� � ����� �� ��4(� �� ������� 
�� ���� "���� �#���
�
���� ����������	 
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�� ��4�
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��
� .����<��� ������������ 7������(� �
� ���
� �� ���� 3�"�� � �	 +�����< \CF]	 +�
�#�����
� ��� �������
# ��
� ���� �� )�� ������� ����
� ����� ��
� ����� �� ������� X ���
&������������� ��� ���#�����# �
� �� )�
�� D	C	
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���#�� ��
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�����
���� &��� ��
� &��"��� ��
� �� �����
��� �� ���"�� �� ����
�	 
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� ����� ������� �� �� �������� �� �
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��� �������� ������
)��	 +��������� ��� ������ ���� ������ �� ������� �� �
���
�� ����������� ��
� ��� �������
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���
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����� %�
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�
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�� #������
� ��
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�� #�������� �#�
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� ���
���� �������@������ �� ���
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Electronique de 
lecture

100 µm

Espace
d’amplification

Espace de
conversion
3.2 mm 

V = −870 V

V = −400 V

Electrode de derive

Micro−grille

Pistes (anode)

Particule chargee

E = 40 kV/cm

E = 1.5 kV/cm
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=����� �
� ��� #�������� �#�
����� �� ����������� ���� ���
������ �
� ������� �������#� ��
������� ��� ���� �
����� ��� ������ �� ����� �� ��������� �� �� ������������ �T ��� ������
#���
#�	 $� ��� ��������� �
� �� ������� ����� �� ����� �� �������� �������)������ ��
���
� �� �������� �� �#���� ���� #���# ��
� �������� �� ������������ �� �� ������������ �
�
#��������� �� ��� ������# �
� ���� \EH]	 
� )�
�� D	F� �
� ��#����� 
�� ���
������ ��� ������
�� ����� ���� 
� ������#���� ������ �
� �� �
�����������# ��� ������ �� ����� �
�����
��� ��� #�������� ������� �� �� ������� �� ���� �����#�� � ������� ��� ���
� �� �� ������������



"" 
������(���� 1 �� (������� 2 3� �� 	�(����*��

��
� ��������� ����������� �������	 �
 ���������� ��� ������ �� ����� �
����� ��� ��� ����
������� �� ������� �� �� ���������� ��� �� ������������	


�� ���� �� ������ �����
��� �
�
�� �������� �� ������� ���� 
� ����� 
��&���� �����
��R��� �������#� �
� �� ������������� ��
� ����� ��#���
����� ��� ���� ��
�� %BHH ��( ��
����������� ��� ����� ��#���
����� ������#������
�� ��
�� ����"�� � )�� %�
���
�� ���
4����� �� µ�(	 �
�
�� �����
���� �
 ���� ����� ����� �"����#�� �R�� ��
� 
� W
� �� 109

������
���I��2I� \EB]	 +��������� �� �#�����
� ����� ��� 
������"�� ���� ��� W
� �
�#���
��
� 107 14I���� �
 &��� �� ������������ ��� �����
�	


� ��#������ ��#�������� �
 ����� #�������
� �������)������ ����#���� ���������� ��
������� ������������ �� ����������� �����
� �� ������
�� ��������� �#���� 
�� ������ �
�����#
��#������ ���� �� �#�����
�	 0��� ������#���� ��� ������
��� ���� ���������� ������
��� ���
�#������� ����� �� ������������ �� �������� ���� �������� ��
� �� �#�����
�� ���� ��
����
�����*��� 
�� ���>�����# ���"��� ������� �
���
�� �������������	 -�
���
�� ���
��� ��� #�#
������ ��
� �����
�� �� ��
� �� �#������� �� ��
� ��W
���� �
� ���>�����# �
 �#�����
� \EC] 9

���������� ��
� ��4 �#��� ��� �
� �� �#��� �#��
����� ��� ������� &������������� � ���� &��"��
%�
���
�� 103(	

���� ���� ��#��� �� ����	 
���
��"�� ���� ;�����
#�� DGGE�



,45����� ��� ����(����� *�6��
 "#

 �� �*+����� 
�� 
��������� ��,��"

+���� ������� ��#����� ��� �#�������� �� ���
�� � �� "��� �
 &������������� �� ��
� ���
�#�����
�� ��4�
�	 +�� �#�������� ���� �#�����#� ���� �� ��
���� ��� ������ �������� �� ��
�� ���
� ��� �#�����
�� %���� \ED]� \EF] �� �
���
� \CP](	 $� ��� 
���� �� ��� �������� "���������
����� �� ����
��� ��� �������� � ��� �
��# �� ����� �
 �#����� ��4�
� ��� ������#���	

����� ���9� �(������� �� ����������


����
� 
�� ������
�� �����#� �������� 
� ��4� ���� �
"�� ��� ���������� ��#������
�� ����
��� #�������� �
 ��4	 
�#������ �����&#�#� � 
� #������� ���� ��
�� ��������� ��� �#�#�����
���� &��"�� ������ ��#������ ������ �� �� ������
��� ���� �
>����� ��
� ������� �� ���#�
��
�� ��"#��� 
�� ����� #�����������	 
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���� �� ���
�#���
� ����� ��� �����#� �
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#�� �� ����� ������ ���� +,@�
 9 
� ����� ��� ��
�� �����
���������� ��� ������� ����� −50 �� +50 �� X �� ����� ��� �������� ��� ������� ����� −40 ��
40 �� %������� D	D(	 
� �#����� ��� ������� %������� F	C	B( ��� 
�����#�� ���� 
�� ��
�� ��
�����
� 2|∆u|max = 12 × p� �T p ��� �� ��� ��� ������	

� ��
�� ��������#� ������������ �� ���>�����# ����#� ��� ��#�
����� %F	B( ���� R��� ����� ����
��#��
����	 2� ���� �� ���"�� �� �������� ��� ����#�#� � �� ����� ������#�#� ��� ����������
���������	 ������ �����
�
� ������� �� ���
�� ���� �� ��
��� ��
� �����"����#� ������� R���
�������#�� 9 �� ����� � #�# �#����#� �� �� ������� ������# ��� ������������ ����#�# � �� ����� X
�� ����� ��� ��� #�# �#����#�� �� �� ������� ������# �#�
��� �
 ������� ��
�� �
��� ������
��	
+��� ��������� ��� ��#�
����� �
������ 9

N

Ntot
= ε+ (1 − ε).pb, %F	P(

�T pb� ��� �� ���"�"����# �� ���
��� 
� ������� ��� ����#�# � �� ����� � �����#���
� �� �� ��
��	
+���� ���"�"����# ��� �#������#� �� �
����� 
�� ��
����� ��
�� � �������� �
 ��� �� ��
������"
���� ��� �#���
�	 
��>�����# ������#� �
 "���� �V �
� ����� �� W
� ��� ���� 9

ε =
N/Ntot − pb

1 − pb

. %F	K(


� ���������� ��� ���
���� ��
� ���������� �
� pb ��� #���#� %�
� �� W
� �������� ��� #���#(�
�� �
� ���>�����# �
 �#�����
� ��� &��"��	 
� )�
�� F	G ������ ������ �� ����� ���������� �
�
���>�����# ��
� ������#���	
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,� ������
� ��
�� ���� �
� �� ���������� ��� �
 �����
� �� 1% �
 ��������� �� �� 4���
�������� ��������� �T �� ��
� �� �������� ��� �����
�	 ,� ���� ���
��� ���� �
� ���>�����#
%������#� �
 ���( �� �#����� �
 ������ �
 �#�����
�	 +���� ������
# ���� �� �������
D	B	E� ����� ����� ���>�����# ����� ��� �
� � �� �����
���� �
 ���� � ��
�� ��������#� ����
��� ���
��"�� � �����
������ �� ��#���������
�	 
�� �>�����#� ε �� ���#�� �
� �� �
�&���
��� �#�����
�� ���� ��#����#�� ���� �� ��"���
 F	E	 
� ����������� ���� ��� �>�����#� εbf
�"���
�� � "���� ��������# �
 �R�� ����� �� &������������� %���� �� ������� ��#�#�����(
������ �
� �� ����� ���>�����# �
� � �����
������ �� ��#���������
� ��� ��������� 2 %	
@�����
��� �
� �� �� ���� ���>�����#� ����#�#� ��� �� ������# �� ������� ��� �����#�
��� �� ������ ��� �#�����
�� �T �� W
� �� ������
��� ��� �� ��
� ���������	 ������ �� "�����
���>�����# � ��
�� ��������# �������� �� &��� �
�
�� "���� �������� �� BH �� �� �����
%)�
�� F	G(	

-��� 0#�	 e ε εbf
��HBYB P H	LGH H	LKK
��HBOB G H	LDL H	LPL
��HBZB L H	LGB H	LKE
��HB:B K H	LGH H	LKE
��HCYB BB H	LFL H	LLC
��HCOB E H	LGB H	LKD
��HCZB BC H	LPH H	LLH
��HC:B BE H	LGP H	LKH
��HEYB D H	LFL H	LLH
��HEOB BD H	LGL H	LLB
��HEZB C H	LGG H	LGP
��HE:B F H	LFK H	LKG

�� ���� H	LGB H	LKD

���� ���� $��	������� ��
�� ��� � ����

� � ���
� ��
����

 �1N2.108 µ?�
��������
� �
 � �����
��
����

 �1N3.106 µ?�
��������
��

+���� �#����� �� ���
�� �� ���>�����# � #�# ������
#� ���� �
���� � �� ��
���� ��� �#����
��
�� �� ������ �
 ������������ +,�-�..� �� � ������ �� ����� �� ������ ��� �>�����#�
�#����� ��� �#�����
�� ���� ��� ���
�������	 
�� �#�
����� ���� �#�
�#� ���� �������� �	

?���� ����
�� ����
!


� ���� �� ����������� ����� ����������������� ���� �� ����� #�������
� ��#���� ���� �� 4���
�������)������	 -�
� 
�� ���#����� �� ��������� ����#� ����� �� ������������ �� ��� �������
�� ����� ��� ����������� ������������� � �� �������� �
� ��� �#����	 0�� �#&��������� ��
�� ������������ ��
���� ���� ���
��� 
�� ��������� ������ �
 ����� �� ��� ����#�
��� ��
���>�����#	 O�� ������������ �� ���>�����# �
� �� �
�&��� ��� ����"��� ������ �� ���#���
��� �#&�
��� ���� �� ��� �#�������� �� �������� ��
� ����� ���"�� �� ������ ��
� �"�����

�� ���
�������� �����&������� �� ��
�� �� �
�&��� �� �� ����"��	 
� )�
�� F	P ��#�����
��� ���)�� ���>�����# � ��
� ���������� �"���
� ���� 106 ������ ��
� ����
� ������#���
��/�� � �� �#����� ��� ������� %������� F	C	B(	
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�� ���)�� ���� ��#����#� �
����� ��� ��������#�� u %���������
����� �
� ������( �� v %������
���� �
� ������(	 
�� "����� �����>�����# ���������� ������������� �
� ����
� ����
����	
,� ������
� �
��� ��� 4���� ���>����� �
� ��� �#�����
�� �� �� ������� E� �������#�� �
� ��
"��� ������� �� �� ����"��	 2���� ���� ���"�"������ �
�� � 
� �#��������� �� �� ������
������ �
 ��������� ��
�� 4��� �T �� )������ ��� �����&����	 
� �#�����
� ��HEZB ��#�����
��� �#&�
�� ��
� � �� ���#���� 9 
� ����� ���>���� ���
#� �� ��
� � ��
��� ���"�� R��� 
��
�� 
�� �
� �� ����
�� ������#	 O� ����� �
� ��
� ��� �
 ��� �� ��
� �� �� ����"��� ���
���
#���� �
 ��� �� "��	 .
� ��� ������ �
�� ��� �� ��
�� 
�� �� 
�� �
 ����
�� ������# ���R�����
�� �#������� ��� ������ ����#�� �� �����
� �� �� �� 
��	 0� �R��� ��� ������ �
�� ��� �� "��
�� ������� ��� ��� ������ ����#�� �
 ����
� �� �� �� 
��	 
� ��#����� �� �� 4��� ���>����
���
#� � ��������# �� �� 4��� �������� �������� ����� ��� ��������	 3�
� ����� ����#�# �
��#������ �� �� �#�����
� ����� �� �
� +,�-�.. CHHE	



% ���������� ����������

.� ���������	 ��
�������


�� �#�����
�� ������#��� �� ���
���� ����� �� ��"�� �� .�B %)�
�� F	B(� �#���� �T �� W
�
�� ������
��� ��� ������
��������� #���# 9 
�� &������� ���������� ��� ������
��� ����
����
���� �� ��"�� ��� "��� #� ���� �� ������������ ��� �� ����� ����#���
� �� .�B� �� ��
�������� ��� ��� �#�����
�� ���
#� �� ���� �� .�B	


� W
� ���#��# �
� �� �
�&��� ��
� ������#��� ��� ��������� 20 �14� �� �� ��
� �� ��������
��
� ��������� 200 <14 �
� ��� ������ "������ �� 4��� �������� ��������	 
� ����� ���"�� ��
�������� &���
��� �������
� �� ��������
����� ��
� ��
� �������	 -������������ �� ���"��
�� ���"�������� �� �������� � ������ ��� ���� #���#� �� �
� �������� �� ��������
�����	 0�
����
������� ��� �������� &���
��� �#������ ��� ������ &���J���	 +�������� 
�������� ��� ��������
����������� �
� ������ �#������ �� �
� �#�
�� ���>�����# �� �� ��������
�����	 0� ��
�� �����
�������
��� ������ ��� ��� ������� �� �
�������� �� "�
�� �� &��� ���"��������	

$� ��� ���� ��������� ��
������� ��� �#�����
�� � ��
�� �#���
���� ����������� �� �
� ������
�� ��������� �� ����� ���������� �
��
� �
 ��� ��� �������� ����#�#� �
 �������� �� �� �#�
���
�� ���"�� �� �������� &���
���	


� �������� ��
�� ���
�� �� �#���
���� ���������� � #�# ������
�� ���� �� ������� F	B	C	
@�������� �
� �� �#���
���� ���������� σt �
 �#�����
� ������#�# ���"����� � ������ �� ��
�����
� σ �� �� ������"
���� ��� ∆t = tcluster − ttrace� �� �� �� �#���
���� ���������� σ′

t �� ��
��������
����� ��� 9

σ2 = σ2
t + σ

′2
t . %F	L(


� ����� ��
�� ����� ����#� ��� �"���
 � ������ �
 ����� ��� N �������� �� �� ����� 9

ttrace =

∑N
i=1 ti/σ

2
i∑N

i=1 1/σ2
i

, %F	BH(

�T ti ��� �� ����� �
 ������� i� �� σi �� �#���
���� ���������� �
 �#�����
� �������������	

� �#���
���� ���������� �� �� ��������
����� ��� ������
� �
� ����� ���
�� 9

σ′
t =

√
1∑

i 1/σ
2
i

. %F	BB(

+���� ��� �#���
����� σi ��� �#�����
�� ����� ��
� �� ��
���� ��� #�# ���
�#��� �� ��!����
���� �� ��������� �� ��������
����� ��� ����
�� M���"�"���N	 0� �� &���� ��� ����
�� �� σ′

t

�� �� σt ���� ������#� ��
�� ����
� � ��#�����
� ����������	

0�
� �#������ ���#������ ��� #�# �#������#�� �)� �� ����������� �� ����� ����
� � ��#���
���
�	 
�
�� ��� �����#� �
� ���
��� � "���� ��������# %������� F	D	B(� ���
��� �
� ���
���
� ��
�� ��������# %������� F	D	C(	



���������� ���������� %!

?���� ���
��� + ����� ���������

,� 
������ �� �#����� �� ��������
����� ������ %������� F	C	C(	 0��� ����� �#������ ��
�#�����
� ������#�# ��� �����# �� �� ��������
������ �� ��� ������ ���� ��������
���� � ������
��� BB ������#��� ��������	 .� ���� �#��������� ��� ������ � �� ��������
����� ����
����� ���
BB �#�����
�� ��� ��
� ��������#� �� ����� ��
�� ����� �������

ttrace =

∑11
i=1 ti/σ

2
i∑11

i=1 1/σ2
i

, %F	BC(

.� ���� �
����� �� ��
� �
� ��� �#���
����� ��� BC ������#��� ���� #������ σi = σt ��
��#�
����� %F	BB( ����� 9

σ′
t = σt/

√
11. %F	BE(

σ ��� �#������# �� �!
����� �� ������"
���� ��� ∆t ��� 
�� ��
������� %)�
�� F	K(	 ,�
�"����� ����� σt ��/�� � ��#�
����� %F	L(� �
� ������� � ������
�� 
�� ���������� � �� ����
�
�� σ 9

σt =
σ√

1 + 1/11
= 0.957σ %F	BD(


� ���
�� �� �� �#���
���� ���������� ��� BC �#�����
�� ������#��� � #�# �#����#� � ������
�� ����� �#����� �
� ��� ����#�� �
 �
� CCHBG 9

� "���� ��������# 9 6.105 µ/��

� .�B ���R�#	


�� ����
�� �"���
�� ���� �#�
�#�� ���� �� ��"���
 F	D	 
� �#���
���� �� ���� ��� �� 8.5 ns�
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����� �"���
��� �
�� �� ���������� ��� ���
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 �#������� ��� 
�� �#���
���� #���� � ����� �
 �#�����
� #�
��#�
����� � ���� σ2

s 	 
� ������
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σ
′2
s (σs) =

(
σs

σ0

)2

× σ
′2
s (σ0). %F	CG(
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��� %F	CG( ���� ������������ �� σs %F	BK(� �� �"����� )�������� 9

σs =
σ√

1 + σ′2
s (σ0)
σ2
0
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��� ��� ���
��� �� �#���
���� ��#����#�� ���� ���
������� �
�������	 ,� �#��)��� � ���������� �
� ��� ������� ����� ���
���� ��� �#���
����� ���
������#��� ���� #����� ��� �������"��	

������� �� �� ��
���"����� ��
 ��
�����
 σ

O�� ����������� �#��#����
� ���������� ��� �#�����
�� �
 ������������ ��
� #������ ����)�
���������� �� ������"
���� ��� �#���
���	 O� �#�����
� ��� �#���� ��� ���#����� ����������
�#��#����
��� �
� ���� �� �������� (x, y, z)� ������� �� �������� θ �
��
� �� ����� z� �� ��
��� ��� ������ p	 +�� ���������� ���� �#������#� ��� 
�� ������������ �����
#� ��/�� �

��������� ������������ �� +,�-�.. \DC]	 ,�� �� ��������� #���� ������ �� ��
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���� ��� �������
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�������� ��
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���� ��� �#���
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���� �������� �
 �#�����
� ������#�#� �� ��������
��
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� ��� ���
���#� �
� �� )�
�� F	BC 9
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����
��
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� σ(u)	 5��
�� F	BC%"(	

E	 σ ��� �#)�� ����� �� �� ���� ��� σ(u)� ����#�#� ��� �� ���"�� ������#�� ����
����
� �������	 5��
�� F	BC%�(	



&'� ���������� ��������

u (mm)
-200 -100 0 100 200

u
 (

m
m

)
∆

-1

0

1

���� ����� � #����� / ���
����
��� ��� �
������� 	��� �� �

��
��� ;;27O7� � ����
� / ���
��
#����� ∆u �� u� ���� ��
 ���
�#������ �� 	��
� ��
 ��� � ��� �������� ������	
���
�� 	�� ��� 	��
�� �� �� �

��
���� �� ���
����
��� ��� �
�������� ��
���� �� 	��0�
��

��
 ���
�#����� ��� ��� �+� ���
����� ��
 	�� ����
"���
 
���#���

+���� ��
� �� ������� ���� �� ������� F	F	D� 
�� ��
����� ���������� ��
�������� �����
�� �� &��"�� ������
��� ������*� � ��
�� ��������# ���� ��� ������"
����� ∆u(u)	 
� &�������

�����#� ��
� �!
���� ����� ������"
���� ��� ���� 
�� ����� �� ��
� ��
�������� g1 �� g2�
�� ��
� ��� �J�� �� ����# H ��
� ��� �������� &���
���	 σ(u) ��� �#)�� ����� �� �� ����
��� �����
�� σ1 �� σ2 �� g1 �� g2� ����#�#�� ��� ��
�� ���#������	

0�����
 �����
��



�� ���#����� &����
�� �
� ��W
��� �
� �� �#���
���� ��� �#�����
�� ���� 9

� �� ��� ��� �������

� �� ��#����� �� ����� ����#���
��

� �� W
� ���������

� ������� ��� ������	

3�
� ������� �
��� ��� �����"�� �������� �� ������"
���� �� ����
� �� ��� &����
�� �� ���
����
�� �#���
���� �������� ��
� ����� �
�� �
������&�� ���� ��� ������#������
�� ���� �#�
�#�� ����
�� ��"���
 F	G	


�� �#������ �� ������� �� �� ��
�� ��� #�# �#����� ���� �� ��"���
 F	C	 
����
������� ��
��� ����� �
�� � ��� �
�# ������� ��
� ��
���� �� �#������� ���� ������ �� ��� ����� ���
���������� �� ����#���
�� ��"����� �� �� �������� �������#���
�� ����� �
� ��
�� ��

���"�"�� W
��
����� �
 �#����� ��4�
�	



���������� �������� &'�

u (mm)
-200 -100 0 100 200

u
 (

m
m

)
∆

-1

0

1

-1 0 1 -1 0 1 -1 0 1 -1 0 1 -1 0 1 -1 0 1

u (mm)

-200 -100 0 100 200

 (
m

m
)

〉u∆〈

-1

0

1

u (mm)

-200 -100 0 100 200

 (
m

m
)

σ

0

0.05

0.1

0.15

0.2

(a)

(b)

(c) (d)

���� ����� '+
���
��� �� σ� �� ���
 �� ��� / ���
�#����� ∆u �� u 	��� ;;27O7 P �0��
����
�
�� ������ ��� �����+ �� ∆u �� u P 	���
��� �� �� ������� 	��� ���"�� ����� P σ(u)
	��� ���"�� ������ σ(u) ��
 	��� 
���
 �� ���
�� �� �

��
��� ��� �� �
����
��� �	�
����
��
 ����� ����� � ���
 <�+� ����� ���� �� ������� ���� �� ���
��� K�K�Q�



&' ���������� ��������

@
� e $�������# %µI�#���������( .�B �������

CCHBG 3.106 ��� Y$
CCHBP 3.106 �
� Y$aM�� ���
�N
CCHBL 2.108 �
� M�� ���
�N

���� ���� .��� �
����
� 	��� ��� ������� �� �
����
��� �	�
�����

?�?�� #:�� �
 ��� ��� ������


����� �
 ��� p �
� �� �#���
���� �������� � #�# #�
��# ��/�� �
 �
� CCHBG� ��
� ���
�� ���
�
���� &����
�� �� �#������� ��� �� �#���
���� ��� �#�����
�� 9

� .�B ��� #����� 9 
� ��
� ����� ����#���
� ��#���� ��� ���
� �
 ���#��[�� �� �� ��"��	

� +���� ����������# ��� &��"��� �� �� � ��� ������ �� W
�	

� 
� ������� MY��� $������N �#��������� ��� �
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mµ/devt, res =  99 µ 8I=2.10

mµ/devt - ailes non prises en compte, res =  72 µ  8I=2.10

mµ/devt, res =  75 µ 6I=3.10
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�
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� ������� �� ������ B	 -�
� �
� ������� ����������� ��� 
� ���� �
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����� ��
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��� ������
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���������� �� �� ������ �
 ������� �#���#	 .��� p = 360 µ� �� ���
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� �� �������� �� ����������	 -�
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� �������
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�� �� ���� ��� �������� ��
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�	 O�� �����&��� ��� ������
���
��� �� ������ ��������
�� �� &������� �
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����� �� ��� ����#�� +,�-�.. CHHC � ������ �� ������#�������� ��� BC �#�����
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�#��� �������#� �
� �� ������������	 +�� �#�����
�� �������� ������� �� ������ ��� �������
�� +,�-�.. 9

B	 @#���
���� �������� ������
�� �
� 100 µ� ���� �� ���� �� ��
�"
��	

C	 @#���
���� ���������� �
��� "���� �
� �����"��	

E	 2>�����# �
��� ������ �
� �����"�� �� BHH U	

D	 5������������� ���� 
� W
� �� ������
��� #���# %∼ 100 <14 �
� ��� ������ ���������(�
�� ��#����� ��� ������ �� &
��� �
 ���#��[�� �� �� .�B %!
��
�� 0.2 = �
 �����
 ��
�������� �#�����
��(	

F	 .
�&��� ��
����� �� 40 × 40 ��2	

G	 S
�����# �� ������� ������
��� ���� ������������ ��������	

O�� �>�����# �� LG	F U� 
�� �#���
���� �������� �� 93 µ� �� 
�� �#���
���� ����������
�� BH	H �� ��� #�# ���
�#�� �� ���������� ��������� �� ����� �� ����#��� ��
� 
� W
�
�����
� ��� )� �� CHH <14� ��
� &��� �
�#���
� �
 W
� �����# ���� �� �� ���������� ���
�#�����
��	 0��
��� ����� �� �#����� �� ���
�� �� ��������
�� "��#� �
� �� ��������� ��
���������� �� +,�-�.. ������ 
�� ���"����# �����&������� ��� ������#��� �
 ��
�� ���
������ �� ����#�� CHHC �� CHHE	 
� ��"���
 �
����� �#�����
�� ��� �#�
����� �"���
� ��
�
����
� �#�����
� 9

-��� 0#�	 .�
�� %e−( HVgrille %Y( HVdrive %Y( ε σs %µ�( σt %��(

��HBYB P DHHH ELH KPH H	LGP LE BB	BE
��HBOB G DHHH DHH KPH H	LFD LG BH	GP
��HBZB L DHHH DHH KPH H	LGF LG BH	EC
��HB:B K DHHH DHH KPH H	LGE LG L	PE
��HCYB BB DHHH DBH KPH H	LGB KF L	GE
��HCOB E GHHH DEH KPH H	LGE KG L	PB
��HCZB BC DHHH DBH KPH H	LPD LB L	LB
��HC:B BE DHHH DHH KPH H	LPB KB BH	EH
��HEYB D DHHH DCH KPH H	LGB LG L	CD
��HEOB BD DHHH DBF KPH H	LPC LP L	KP
��HEZB C DHHH DCH KPH H	LPB BHE L	GP
��HE:B F DHHH DHH KPH H	LGD LC L	LL

�� ���� H	LGF LE BH	HB
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�� �#������� ��#�#������� ��������� 
�� ����� �� ������� � ������ ���
����� ����������
������ �� &�������� �� �������
� �� &
���� ���������
�� ���� �� ������� �>���� �� ���
����
��������
��#�� %������� C	B	D(	 +� �������� ��#����� �� ���
�� �� ���� �#���� ���#�����#
�#����#� �
� 
� #���������� ��#�#������� ����
 pT �"���
 � ������ ��� ����#�� �������#��
��� +,�-�.. �� CHHC	 
� �������� ������� ������ �� �������� �� ����� ���
�� ���� �#����
�� �� ������� G	C �#���� �� �#����� �� �#������� ��� #�#�������	 
��� �#���� ���
�#� ��
�
R��� ����
#� ��� ���  ��

�
 �
%������
 ��#�� � ��������������	 O�� #�
�� �#�����#� �� ���
&�
���� �� �#������ ��#����#� ���� �� ������� G	E� � ������ ��������� ������
� � ��#�����
�
������#� �
� �� ���
�� �� ���� �#���� ����
 pT 	 5���������� �� ������� G	D ��#����� �� �#�
����
�"���
	 0��� �� �������� �
������ 
�� �������� ���������� �� ∆G

G
���� �#����#� � ������ ��

�� �#�
����	

1�� ������ 
$��+
�����

0��� ��� �������� C	B	B �� C	B	C� ��
� ����� ������
# ������� �������� �� ������������ ���
��
��� ∆G

G
�� ���� �#���� ���#�����# A‖ �� �� ������� �>���� �� ���
���� ����0����*��	

-�
� 
�� ������ ������
#� ��� �� �
���� �� ���
�� ��������� ���� �#���� ���#�����# �� ��
���
���� ������ $������0����*��� �#)��� ����� 9

Aγ∗d
‖ ≡ A‖

D
. %G	B(

D� ��  ������ �� ��������
����� �� �!���� (������� ��� ������� ����� H �� B �� ��
�
R��� �������#�# ����� �� &������� �� ������������ ��������� ��� �� �
�� �
 ������ ����
��	
.�� ���������� ��� ����#� ���� �� ������� G	B	E	

BBF
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B���� ������� ��������

0��� �� �#����� ��������� �� ���� Aγ∗d
‖ �� ��#�	 %C	CK( �
� ������� A‖ �� &������� �


���"�� �������������� �����# ���� ����
�� ��� ����
��� ����� %m( �� ���� %v( �� �� ��"�� 9

A
γ∗d,(s)
‖ = − 1

2〈PµPcfD〉
(
Nm −Nv

Nm +Nv
− N ′

m −N ′
v

N ′
m +N ′

v

)
. %G	C(


�� ��
� ������ ������������� �
� ��
� ������������ �����#�� �
 ����� �
 ���#��[���
)�
��� C	P	%�( �� C	P	%�( 	 $� ��� ���������� �����
# ������������� �
� ����� �#����� &���
���������� ��� $������ �������� �� �� ������������ �
 &������
 Pµ� �� ����� �� �� ��"�� Pc�
�
 &����
� �� ���
���� �� �� ��"�� f �� �
 &����
� �� �#������������ D	 
�����
� ���������
�
�
� ����� ���
�� ���

δA
γ∗d,(s)
‖ =

1

2〈PµPcfD〉

√
1

Nm +Nv

+
1

N ′
m +N ′

v

. %G	E(

B���� ������� ��������

0�
� ����� �� �
� ���������
�� �� �#����� �� ����
� ���� �#���� �������� ����� ��� ��������	
3����� �
� �� &����
� 〈PµPcfD〉� ������� ����� H �� B� ���
� ���� �#���� Aγ∗d

‖ 	 +� &����
�
��
� R��� �������#�# ����� 
� �R�� ����� ���������
� ������
# � ��
� ��� #�#�������� �����
�
� ��
���� ���� ��
� �
 ����� �����"��� � Aγ∗d

‖ 	 -�� �������� 
� #�#������ ��
� ���
��

D ��� &��"�� ������� ��
 ����&�������� �
� Aγ∗d
‖ 	 0��� �� ����
� �� Aγ∗d

‖ � �� &�
����� ����
������ ����� �� ����� � ��� #�#������ �
�� 
� #�#������ ��
� ���
�� D ��� ���������	

3�
� 
�������� ���� 
�� �#����� �������� �� ���
�� ���� �#����� �#������#� � ���������
��
� �����#������ .�+ \DE] �� �#����� ���� �� �#&#����� \DD]	 +���� �#����� �������� �
������� � ����
� #�#������ �� �����

w = fDPµ. %G	D(


����������� �� ���� �#���� ������� �����

Aγ∗d
‖ = − 1

2〈Pc〉
(∑

wm −∑wv∑
w2

m +
∑
w2

v

−
∑
w′

m −∑w′
v∑

w′2
m +
∑
w′2

v

)
, %G	F(

�� ��� ����
� ���������
�

δAγ∗d
‖ =

1

2〈Pc〉

√
1∑

w2
m +
∑
w2

v

+
1∑

w′2
m +
∑
w′2

v

. %G	G(


� ������������ �� �� ��"�� Pc ����� ��� ���#��#� �
 ����� ��� ���� �#���� �
 �����	 2� �����
��#�	 %G	F( ��� 
�� �� ���� ������#���
� ��� ���
��� �����
#�� ���� ��� ��
� ������������
�
 ����� ����#���
�� �
� ������ �����
��� ��� �� �#����� �
�� � �� ���#����� ������������
����� ��� ��
� ����
��� �� �� ��"�� %���� ������� C	C	C(	 .� Pc ����� ��
�� ����������� � ���
����
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��
� ��� ��
� ������ �� ��#�
����� %G	F( � ��
� �� ������ �� ��� �� �#����� ������������ ��
������������� ��� ������������	

-�
� 
� ����� �������� w = 〈fDPµ〉� �� �����
�� #��������� ��� ����������� %G	C( �� %G	E(
�� �� �#����� ��������	 .� w ������ ������
� ���������
� ��� ��
� &��"�� ��
� �� �#�����
����#�#�	 2� ����� �� ���� �#)��� σw ����� �� �����
� �� �� ������"
���� ��� w�

(
δA

γ∗d,(s)
‖

δAγ∗d
‖

)2

= 1 +
σ2

w

〈w〉2 . %G	P(

+� ���� ���������
� ��� ���� ���
���� ��
� ����� �
� �� ������"
���� ��� ����� ��� ������
�� �
� �� �� ���� ��� ������ �� H	 
� )�
�� G	B ��#����� ��� ������"
����� �� f � D� Pµ ��
w = fDPµ ��
� 
� #���������� ��#�#������� ����
 pT %�#��������#� �
����� �� ����#�
��
�#����� ���� �� ������� G	C(	 3�
� ������� ���� �� ������� �
������ ������� ���� �"���
�
f � D� �� Pµ � ����
� #�#������	
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�
�����
� ��
�� pT �
�� ��	
��� ������
� ���� �� ���
����
��� �� D ��
 ��� � �� ���	��� y > 0.4 ����� ��
�
���
��� ��� 
�
�����
� ��
�� pT � ���
��� B�5�� �� 	���� ��

� ���
����
��� ���	��
�
����������
 ���+ 	�	���
���� �!
�
�����
� �D � 0.4 �
 D > 0.5�� �� "�� ���� �+	��"�

���� �� ���
��� B�7�G�
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$� ��� ������
��������� ��������� ������
�� D ���� �� ����� ��� �� ������"
���� ��� �������
������ �����	 7!��� ���� ����� ������  �� �!�� � ������ 
� ������� Aγ∗d

‖ ����?�  �� A‖	 
�
���� ���������
� ��� ������� � �� �#����� �������� ��
� R��� �����# ��/�� � �� ������"
����
�� w� )�
�� G	B%�(� ���� �� ����

σw = 0.051, %G	K(

〈w〉 = 0.21. %G	L(


�#�
����� %G	P( &�
���� ����� 9

(
δA

γ∗d,(s)
‖

δAγ∗d
‖

)2

= 1.06. %G	BH(


� ���� ���������
� �#����# ��/�� � �� �#����� ����#�#� ��� ���� #�
������� � 
� ���� ��
GU �� ���"�� ��#�#�������	

B���� A�������� �� 〈Pc〉� Pµ� f �� D

������
����� �� �� ��"�� Pc


� ������������ �� �� ��"�� ��� ���
�#� ��� �#������� ����#���
� �
��#���� ��
��� ��� D
���
���� �� �� ���#����� ������ �� �� ��"��	 
� �� ���� ��� ���
��� �����
#�� ���� ��
����
�� ����� %����( �
 ��
�� ��
� �
� ����# &�
���� Pm %Pv(	 .� ���� ���� Nm %Nv( ��
���"�� ��#�#������� ����
� pT �� �� �
� ��
� ����
��� �� ������ �������� �� ���
�� ����
�� ����
�� ����� %����(� �� ������������ �� ���� ������������ ���� ������������ %G	F( ��
Aγ∗d

‖ ��� �#)��� �� �� ������� �
������ 9

〈Pc〉 =

∑
runs |Pm|Nm +

∑
runs |Pv|Nv∑

runsNm +
∑

runsNv

. %G	BB(


� ������������ �� ���� �� �� ��"�� ��� ��������� FH U	

������
����� ��  ��
���� Pµ


� ������������ �
 &������
 ��� �#������#� � ����
� #�#������ � ������ �� ��#������ E
�
 �
�� ��������	 
� �����#��������� �� Pµ �� &������� �� E � #�# �#����#� ��/�� � 
��
���
������ �� �� ����� �� &������
 �� +,�-�.. \DF]	 
� ������������ �� ���� �
 &������

��� ��������� PG U	

:������ �� �������� �� �� ��"�� f


� &����
� �� ���
���� �� �� ��"�� ��� �� ������� ����� �� ���"�� �������������� �
� 
�
�
��#�� �������# �� �
� 
� �
��#�� ��� �������#	 
� &������� �� �
��#��� �������#� ���� ��
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��"�� ��� ���� 
�� ������������� ��������� �� �� ����
� �� f 	 -�
� ��#���#����� f ��� ��
������� ����� ��� �������� �>����� ������� �� ���
���� �
 �
�� �
� 
� �
��#�� �������#� ��
��� �������#	 +���� ��� �������� �>����� �#������� �� �� ���#�����
� �� �� �#������� f
��� ����
�# ��
� ����
� #�#������ \DG]	 
� &����
� �� ���
���� �� �� ��� ��������� DH U	

:������ �� ��������
����� �� �!���� (������ D


� &����
� �� �#������������ �
 ������ ����
�� ��
� ��[������ R��� �������#�# ����� ��
&������� �� �� ������������ ������
������ �
 �
�� ������#� ��� �� ������ ����
��	 $� ���
����
�# ��
� ����
� #�#������ \DP] 9

D =
y
[
(1 + γ2y/2)(2− y) − 2y2m2

µ/Q
2
]

y2(1 − 2m2
µ/Q

2)(1 + γ2) + 2(1 +R)(1 − y − γ2y2/4)
%G	BC(

0��� ����� ����������� y �� Q2 ���� ��� �����"��� ���#�����
�� ����
����� ��#����#�� �	 E� γ =
2Mx/

√
Q2 %x �����"�� �� 7!��<��� M ����� �
 �
��#��(� �� R = σγ∗p

L /σγ∗p
T � �T σγ∗p

L %σγ∗p
T (

��� �� ������� �>���� �� ���
���� ��
� ������ ����
�� ������
������ %����������(	 .
����� ��
����
� �� x� R ��� �"���
 � ������ ��
�� �����#��������� ��� ����#�� �� _2O. %x < 0.003(
�
 �� 3�+ %0.003 < x < 0.12(	 
�� ��
� ���
������� ��#�#������� �
� ������������
���� �� ������"
���� �� D� )�
�� G	B� ������������� � ��� ��
� �����#���������� �� R 9
��� #�#������� ��
� ����
��� D � 0.4 ���� � x > 0.003� ��
� ��
� ����
��� D > 0.5 �
x < 0.003	

D �#���� �������������� �� y� �� ������������ ��#�#����� ��
� �� ������)�� ��

D � 1 − (1 − y)2

1 + (1 − y)2
. %G	BE(


����
� �� ������ ����
�� ������� 
�� &��"�� &������� �� ��#������ �
 �
�� %y 
 1(� ��
���� �
��� ������� #�������� 
�� &��"�� &������� �� �� ������������ %D ≈ y(	 
����
� y ���
������ �� B� �� ������ ������� ������
����� ��
�� �� ������������ �
 �
�� %D � 1(	

B���� .��
������ �� ��������� ��� �
��
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��� �� �
��� ���
�� ���� 
�� ����������� �

����� ����#���
� �� �� ��"�� ��������������� ��������� � ����� z %+( �� ������������� � z
%−(	 0
���� ��� K ��
��� �
� �#������ ��
� ��������� �� ������ �� ���
���� �#�#��������

�� �
��4���� �� �
�� �� EH ���
���	 
� )�
�� G	C ��#����� � ����� ��������� �� �������
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���"�� AR� �� ���"�� �� ������ �� %G	F( �� ���
�� ��
� ��
������ Aγ∗d

‖ � ���� ��

����� �� Aγ∗d
‖ �� AR� ���#� A+ �� �#&#����� �
 �#����� ����������� ������& 9

A+ ≡ Aγ∗d
‖ + AR = − 1

2〈Pc〉
(∑

wm −∑wv∑
w2

m +
∑
w2

v

−
∑
w′

m −∑w′
v∑

w′2
m +
∑
w′2

v

)
. %G	CH(


� �#����� ��� �����/����
 ������ ��� �"���
 �� #��������� ��� &�#�
����� ��� ������
����� ������
#�� �
� ��
� ����
���� �� �
� � ��
� ���� �� ��������� ��
�� �������������
%)�
�� G	L(	

B
µ

B
µ

���� ��
� �� �
#��#� ����������� ������� ������	��� � ��� 	�������
��� �
#�
��� �� �� �������
����
� �!����

��� ��
 ������
� 	�� �!
"��
��� �B�57��
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+���� ���� �#���� Aγ∗d
‖ �#���� �� ������������� ��� ������ ���� ������ �� ����� ���� �


������������ �����������	 +��� ��� ���� �� ������ �� ������
��� 
� ����� − �
 ���"��
�� ������ �� ��#�
����� %G	CH( �����
� ���� ��������� �
� ��� ����#�� ���
���� ���� �� �#�����
����������� �#����&	 �
 ���������� ��� &�
���� �� �#����� �� �#������� ��� �� �������������
��� ������ �� �� ���� ���� ��� �����#�� ��� �� ������������ �� ������������ ��� ������
�����	 -�� ����#�
���� �� ����� − ������ �� ����� ��� &�
���� �� �#����� �����
� ���� �����
�
 �#����� ����������� ������& �
 �#����� �#����&	 ������ ���� �#���� ���
�#� ��� ����������

A− ≡ Aγ∗d
‖ −AR = +

1

2|Pc|
(∑

wm −∑wv∑
w2

m +
∑
w2

v

−
∑
w′

m −∑w′
v∑

w′2
m +
∑
w′2

v

)
. %G	CB(


� ��"���
 G	B ��#����� �� �#����� ����������� ��� �#������ �� ������ �� ����#�� 
�����#��
���� ����� ���� ��	

�������
 ;������ �����/����
 �
%������ ��
����

P2D� P2E� P2F � P2G+ + A+ = Aγ∗d
‖ + AR

P2A� P2G− − A− = Aγ∗d
‖ −AR

���� ���� .
#��#� ����������� 	��� ��� 	
������ �� 	����� �� ����
�� �
����
��� L� ���������
���
 	�� ����������� ����
 


 �
����
 �� ������ �� P2G� �������� ��
 �
	��
� �� ���+
	
������� �		��
�� P2G+ �
 P2G−�

2� ��������� ���
��� A+ �� A− ������ ���������� Aγ∗d
‖ �� AR 9

Aγ∗d
‖ =

1

2
(A+ + A−), %G	CC(

AR =
1

2
(A+ −A−). %G	CE(

,� ������
� �
� AR� �
���
� ���� �� ����
�� ��#������ ����������� �����
� ���� �����
�
�� ������� ������*�� �� �� A+ �� �� A− �
� ����
�� � ���� �#���� �� ���
�	 +���������
�
��� ��� ���"��� ��#�#������� ���
�� ���� ��� �#������ ����������� ������& �� �#����& ����
���� ���#���� %�� �
� ��� �� ��� �� CHHC(� ������
� ���������
� �
� Aγ∗d

‖ �

δAγ∗d
‖ =

1

2

√
(δA+)2 + (δA−)2, %G	CD(

��� �����#� ��� ������
� ���������
� �
 ��
� ����� #����������� �� ��� �����)���������� ��
�
���������� �
� ������
� �"���
� ���� 
�� ������� ���
*�*� �� A+ �� �� A−	 3�
� �����
���� �#���# �� ����
��� Aγ∗d

‖ ��� 
�� �� ���� ����#�#�	 0��� �� ���� �� &�
��� �� �#����
������
���"�� �� ��#������ ��� ������������� �� ���� ��� ����#�
��� R��� ����� �� ������
���� ������
� � ��#�����
�	
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:��

� �
%������ ���������

+���� &�
��� �� �#���� ��� �
� � 
�� ��������� ��#������ ��� ������#�#� �� ��������������	
+�����#���� ��
� ���
��� �� �
��� �#���#� ��� 
�� �������� �� ������ �� �
������� ���
������� �
� ���>�����# �� �������� �#�����
�� ����� ����� ��� ��
� ���
���	 +���� ���������
��
� ������
�� 
�� ��������� �
 ������� ������������ am/av� �� �
� �����*�� ������������
��
�� &�
��� �� �#����	 7��� �
� ����� &�
��� �� �#���� ��#������ �����
� ���� �� ���� �
�

� ���"�� �
>���� �� ��������� �� ����� %��� ���������� ���>�����# ���� ��#�������(� ����
��
� �����*��� 
�� �
���������� ��� ����
�� ���������
��	

0��� �� ������ ��#�#������ ��
� ������� ��� ������#�# �� &�
��� �� �#���� ��#������	 
��
���������� �� A+ �� �� A− �
� �#��
���� �� ����� &�
��� �� �#���� �� �#����
���� ���#�
��������� �
� Aγ∗d

‖ � ��� AR ��� ��� �#)������ ���������	 ������ �� ��� �����"�� ��#���
��
������������ �� �� &�
��� �� �#���� ��#������ �� �"������� �� �������"����# ���������
� ���
����
�� �� Aγ∗d

‖ �"���
�� ��
� ����
� �#����� �� ����� �� ����#��	

:��

� �
%������ 
%
������-��

+���� &�
��� �� �#���� ��� �
� � 
�� ��������� � ��#�����
� ��� ������#�#� �� ��������������	
-�
� ��������� ��������� ��#�#����� ���>�����# �� �������� �#�����
�� �#���*� ������V����	
+���� &������� �� &�
��� �� �#���� �#�
������ �� ��#������ ��� �� �� ����	 ,� ��
� ���������
�� �#�
��� ��/�� � 
� ���������� �� ����� �>����� �� � �� ���������� ��� �#�����
�� ��
������	 
� ������"
���� �� ���� �#���� � ��#�����
� ��
������ ���� 
�� ���� �� ��
� ��
��#��
R��� #�
��#� �� ��������� ��� �#�
����� �"���
� ��
� �� ���)�
������ M����#�
����N� �� ��
�
�� ���)�
������ �#����#� ����� ���� )�
�� G	BH	

+
−

+
−

+
−

+ +
−

+
−

+
−

+
−

+
−

+
−

���� ����� $��8#���
���� S����
��
���T �#������ �
 S����T �����
���

S
���
��� �� ����� �� &�
��� �� �#���� � ��#�����
� �������� 
�� ���������� ������
���"��
�������� ���� AR� �� 
�� ���������� ��#������ �������� ���� AA	 ������� �
� AR �� AA

���� &��"��� #�
���
� ���� � ������� �
� ���� �#���� � ��#�����
� ��� &��"��	

B���� *��������� + ������ ���
����� �����/����

+���� ��
� ������� �
� �� �������� �
 ����� �
 ���#��[�� ��#������ ��� ����������� ���� �
�#���� �
� � �� ���#����� ������������ ����� ��� ��
� ����
��� �� �� ��"��� �� ��
� ��� ��������
nm/nv �
 am/av ������ ����� ��� ��
� ������������ �
 �����	 
� &������� �������� �� �����
�� �#���� ������������� �����#� &�
��� �� �#����� ��
� ��������� ����� ������"
����� 9 ��
&�
��� �� �#���� ������
���"��� ���#� AR X �� &�
��� �� �#���� ��#������� ���#� AA X �� &�
���
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�� �#���� � ��#�����
�� �
� �������� 
�� ���������� ������
���"�� �������� ���� AR� ��

�� ���������� ��#������ �������� ���� AA	

8�
���� AR �� AA ������ ��������� ��� ����
�� � ��#�����
�� ������#�� �
� &�
���� �� �#�
����� ���� �� ���
�� �� Aγ∗d

‖ � ���� �#���� �� �� ������� �>���� ��
�� ����� �� ������� �
������ ���
����� ����������	 +��������� �� ���
�� ��� &�
���� �� �#����� ��� �����#� ��� ��
��#������ ���������
� �� ��#���������� �� ����#�� 
�����#	 ������ �����
� ��� #�
��� ���� �#����
�#�� �
� ��#���������� ��#�#������� ����
 pT � �� ���"����� �
�
�� ����� �� &�
��� �� �#�����
�
� ��
������� �����# ��
� ��R��� �
� �#�������� ��&#���
��� � ������
� ���������
� �
� Aγ∗d

‖ 	
���� ���� ������ ��
������� 
� �
��� #���������� ��#�#�������� ������
��������� �����# �
��#�
�� ��� &�
���� �� �#����� ��� �� ������� ���������� ��
�� ���������
� ���� ����������	
+�� #����������� �����# 	����� pT � ��� �#)�� �� �� ������� �
������ 9

� p2
T < 0.5 %��YI�(2�

� ��� �� ��
�
�� �
� �� ����� ���������� �
 � ����� (h1, h2)	

� Q2 < 0.5 %��YI�(2�

� ��� �� ��
�
�� �
� xF � �� �
� z	

� ��
��� ��� �
���� ��
�
��� ���� ��� �R��� �
� ��
� ��#���������� ����
 pT 	


�#���������� 	����� pT ��� ���!���� �� ��#���������� ����
 pT � �� �������� CFH &��� ��
� ��#�#�
�������	


�� �� �#����� A+ �� A− %�
����� �� �#����� ����������� �� �� �#����� �� ������ �� ����#��
������#�#�( ��� #�# ���
�#�� ��
� E !�
� �� ��
�
��� ���#����� %)�
�� G	BB(	
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���� ����� ��� 
���� 0��+ �� ���	���� ��
��� �� �� ������ � #����� / �
����� R < 1.5 ��� *�
���
�� / �����
���� R < 1.4 �� ��� y < 1 ��� � ����
� / ��������� R < 1.2 �� ���
y < 1 ���

@�����
��� �
� ��� ��
�
��� ������ ������������� � �� ����� ��� ����
��� �� �� ��"��� �� �
�
��� ��
�
��� ��������� ���� ������ �
� ���� 
�����#�� ��
� �� ���
�� �� Aγ∗d

‖ �
� ��#����������
����
 pT 	
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+�����#���� ��
� ���"��� ��� ��
�
��� ������	 
� )�
�� G	BC ��#����� ���� �#���� ���
�#�
��
� ����
� �#����� �� ����� �� ����#��	

P2D P2E P2F P2G+ P2A1 P2A2 P2G-

T
tr
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 f

ai
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le
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e
A
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m

-0.05

0

0.05

Wµ+ Wµ-
R=1.5 cm

R+A

R-A
/DA

���� ����� *���

���� A+ �P2D� P2E� P2F � P2G+� �
 A− �P2A1� P2A2� P2G−� ��
�����
	��� �!
����
����� �
���� pT � P2A1 �
 P2A2 ���
 ���	��
������
 �� 	������� �
 ��
���+���� ������� �� P2A� A+ �
 A− �P2A1 �+����� ���
 �0��

�� �
	��
���
 	�� ��
	����A�� �� ��#�
 2� �� ��#�� ���
���� ������	��� � Aγ∗d

‖ ≡ A‖
D = 1

2(A+ + A−)�

,� ���� ��
� �#�
����� ���������� 9

B	 P2A1 �� �� �������� ��� ����� P2A2 �� P2G−� ���� �� �#����� ����������� ���
��
����� #�������� �#����&	 $� �� ���
�� �
� �� ������ �����#������ �� +,�-�..
�������� �������� ��&��������� �����
��� 
�� &���� �����"����# �� �������������� �

��
�� �� ����� �������	 3�
� ����� ���� �#���# ������
�� P2A1 �� ��
��� ��� #�
���
�� &�
���� �� �#������ ����� �
� �� �� ���
�� �� Aγ∗d

‖ �
� ��#���������� ����
 pT 	

C	 P2A1 ��� � ����� ��� �� �#����� ���
�#�� ��
� ��� �#������ ����������� ������	 ��
�*����	 ���� �����#��	 2� �� �#&#���� � ������������ �� Aγ∗d

‖ %G	CC( �� �� AR %G	CE(�
�� �����
� �
� ���� �#���� �� ���
� ��� �#������"�� �� �
� �� &�
��� �� �#���� ������
�
���"�� ��� � 1%	

$��#����������
� ���������� � ������ ��� ��
�
��� �
��
� �� �� ��"�� �
� ����� &�
��� �� �
�#����	 
� )�
�� G	BE ��#����� ��� �� �#����� ���
�#�� ��
� ����
� ��� ����� !�
� ��
��
�
���	 ,� ������
� ��
� ���"��� �
� �� &�
��� �� �#���� ������
���"�� ��� &��������
�#�
��� �����
� ���� ����� ��� ��
�
��� ������ �
� ��
�
��� ���������	 +��� ������ �
�
�� &�
��� �� �#���� ������
���"�� �"����#� �������� �� ��"��� �� ��
� ��#���#���� �� &���
�
� �� ������� nm/nv �#���� �� ������������� �
 ����� �
 ���#��[��	 +���� �����
����
�� )�
�� G	BD� ����� �#�������� �������� �
 �#��������� %���
�#( �� EHH µ� �� �� ��"��
�������#� �����
� �� ����� �
 ���#��[�� ��� �������#	 +� �#��������� ��� �V � �������������
����� �� ����� �
 ���#��[�� �� �� ����� �� &
��� �� .�B	
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���� ����� *���

��� � �
���� pT � �����
� 	��� ��� ���	���� �
����� �����
��� �
 ��������� �
8����
��� �� 8#��� B�77� ��� ������+ �� A+� A− �
 Aγ∗d

‖ ≡ A‖
D ������	�����
 ��+ ���	����

�
���� ����� 8#��� B�75��

Field

Field
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���� ����� =��
 �
 ���
�� / �� ��������
 �� �� ����� ���� �� �� ��
�
��� �� ����	 �����
 ��� ������

��� �� ��		��
 nm/nv� V�� / ��� ���	���� 	��� 
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� )�
�� G	BE ������ #�������� �
� ���� �#���� �� ������ ��� �����
� ���� ����� ���
��
�
��� ��������� �
� ��
�
��� *�������	 +��� ���
�� �
��� ������ ��
� ������ ���� ��
"���� �
� ��� ��
�
��� ��������� �
>���� � #������� ������������� ����� �� ��
� �� 
�������� ��
� 
� �#��������� �� 300 µ�	

+��������� 
�� &�
��� �� �#���� ������
���"�� ��
����� �
"������ �� �#��� ��� ��
�
���
���������	 .� ����
� ��� &�
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A+ ≡ Aγ∗d
‖ + AR

�H	HHHK ± H	HHFH
P2E H	HHED ± H	HHDC
P2F �H	HHGP ± H	HHGF
P2G+ H	HHKG ± H	HHKF
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A− ≡ Aγ∗d
‖ −AR

�H	HHPK ± H	HHDF
P2G− �H	HHPF ± H	HHGK

���� ���� *���

��� � )����� ��	������ 
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P2D �H	HHFB ± H	HHFF
P2E �H	HHHL ± H	HHDK
P2F �H	HBBH ± H	HHGL
P2G+ H	HHDE ± H	HHKK
P2A2 �H	HHEF ± H	HHFB
P2G− �H	HHEC ± H	HHPC

�� ���� �H	HHEH ± H	HHCD
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������� J ���
 J �(�
* ���@��������
A���"���B

���@��������
A���
�����(�B

P2D BGG BFCCD �H	HFL ± H	HPG �H	HPG ± H	HPP
P2E CBE BLDEB �H	HCB ± H	HGP �H	HCE ± H	HGL
P2F BBD LHBK �H	CHB ± H	BHD �H	BLG ± H	BHF
P2G+ GL FPBG H	HPH ± H	BEH H	HPF ± H	BEK
=���� + FGC DLEKL �H	HFD ± H	HDE �H	HGH ± H	HDD

P2A2 BKD BGBLD �H	HGB ± H	HGL �H	HKP ± H	HPF
P2G− BHF LGHF �H	HGD ± H	BHC �H	HDK ± H	BHK
=���� − CKL CFPLL �H	HGC ± H	HFP �H	HPD ± H	HGC

=���� KFB PFBKK �H	HFP ± H	HED �H	HGF ± H	HEG
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AR × (δA−)2 − (δA+)2
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����� ��
�� pT � 	��� ��� ����
�� �
�����
�
 �� ������
����
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� ��
���� ������ �� �� -�5 ��� ���� �#���� �� �� ������� �>���� �� �� ���
���� µg → µ′qq̄ 9

âpgf
LL ≡ d∆σµg

pgf

dσµg
pgf

, %P	K(

âpgf
LL ��� ����
�# � ����
� #�#������	 
� &������� 
�����#� ��
� �� ����
� ��� ���#� �
 ����

������ -,
0$. %\FC] �� �#&#������ ������#��(	 
� ������"
���� �� âpgf
LL ��
� ��� #�#�������

-�5 ��#����� ���� ��#���������� ����
 pT ��� ��#����#� �
� �� )�
�� P	BF	

pgf
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���� ����� � #������ ���
����
��� �� âpgf
LL 	��� ��� 
�
�����
� �6� �� �!
����
����� ��
�� pT �

�� "���� �� �� ���
����
��� "�� �!

��� 0��"�!� ��� ������� 	���
���� ������	��� � ��
	�����
��� �!��� 	���� cc̄ ����� �� ���� �� ���
����
��� �� 	������ �!������� ��
 ���
�
�
��� 2�� � ����
�� âpgf

LL �� )���
��� �� )��
��� �� �
	�������
��� �� 	��
�� ���
��� / â
pgf
LL

��
 	��
�"�����
 
#�� � −D�

-�
� �������� ∆G/G �� �� ����
� �� ���� �#���� ����
 pT � #�	 %P	C(� �� � "����� �� �� ����
�
�� ���� �
 ��
���� ������ �� �#�
�� âpgf

LL /D	 +������� ��
�〈
âpgf

LL

D

〉
= −0.943. %P	L(

C���� E�
�� �� ����

=�
� ��� �������
� &������ �� "�
�� �� &��� ���
��� ���� �#���� ��� ��
� ��#����� ������
�

�� �#�
����� �� �� ���������� Rpgf �� &
���� ���������
��	 2� �
���� �� ��
���� �������
�
� ��������� 
�� �� �#����� �� ������"
��� ���� ����������� � ���� �#���� ����
 pT 	

0�9�
��� '  ��"�� �����
��� ����
(��
� 7�����

�
 G$8

+���� ��
� �� ������ ��� ������� ������� ��� #�#�������� ��
� �
��������� �
��� ��
�
������������ � ���� �#����	 +���� � ������� ��� ������ �R�� �� ���� �#���� �
 �������
� LF
��� #���#�� ��� ��� #�#������� ���� �� &��"�� ���������� %R(95) 
 1(	
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�
8

$� ��� �����"�� ��������� �� ������"
���� �� �� ���
���� +������ S+0 %�������
� BEB(	
+���� ������"
���� ��#���� �� ������� ��������� � ����� �
 �������
� -�5 �����

Rqcdc

AµN
qcdc

D
= Rqcdc

〈
âqcdc

LL

D
Ad

1

〉
, %P	BH(

�T Rqcdc ��� �� ���������� ��#�#������� +������ S+0� aqcdc
LL �� ��
���� ������ �� �� ��

�������
�� �� �T Ad
1 ≡ gd

1/F
d
1 ��
� R��� �������#�# ����� �� ������������ ��� �
��<� ���� ��

��
���	 Rqcdc ��� �"���
 ��� �� �R�� �#����� �
� Rpgf %���� ������� P	C	B( 9

Rqcdc = 0.086 ± 0.003 %P	BB(

Ad
1 ��� ���# ��
�� �����#��������� ��� ����#�� �� 2BDE �� .�+� ���� �� ���� ��� &�
��� ����

�������� 7	 0��� ����� �����#���������� �� ��������� �
� Ad
1 �� �#���� �
� �� �� &�������

�����
����� �
 �
��#�� ξ ����#� ��� �� �
��<	 2� ����� �� ���"����� ���#�������������
�
�
�� ��������� �� Ad

1 ���� ��#������ �� �������������	 +��� ��� �V �
 &��� �
� ��� ����������
�� g1 �� �� F1 �� ���������� ������������� ���� �� ������� g1/F1	 � ����
� #�#������� ξ
��� ����# ���

ξ =
ŝ +Q2

2P · q , %P	BC(

�T ŝ ��� ��#������ �
 ����# ���� �� ������ �� ����� ��������
��< 9

ŝ = (q + pq)
2 = (p′q + pg)

2. %P	BE(

0��� �� ���
������� ŝ ��� ����
��"�� ��� �� �����*� ��� ���
������ p′q �� pg �
 �
��< �� �


��
�� ���� ��#��� )���� !
��� ����� ���������������	 2�)�� âqcdc
LL ��� ����
�# ��/�� � -,
0$.	

2� �� ������ �
� ��#���������� ����
 pT � �� �"�����〈
âqcdc

LL

D
Ad

1

〉
= 0.06. %P	BD(


� ������"
���� �� �� ���
���� +������ S+0 � ���� �#���� ����
 pT ��� ���� 9

Rqcdc

AµN
qcdc

D
= Rqcdc

〈
âqcdc

LL

D
Ad

1

〉
= 0.005. %P	BF(

0�� ' ������� 6


� �#����� 
�����#� ��
� ������� �� ������"
���� �� �� ���
���� +������ S+0 � ���� �#����
����
 pT �� ��
� R��� ������
#� �
 0$. � ������� H	 2� ����� #�����

Rdis0
AµN

dis0

D
= Rdis0

〈
âdis0

LL

D
Ad

1

〉
%P	BG(
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G &!�

�
����� �� &������������ �
 �������
� �
� %âdis0
LL ( �� �
 �������
� ��
 %Ad

1(	 ,�� �� &�������
������ ����� �#����#� �
�� �� ��������� �
�
�� #������ �
�� ���� ��#�����	 0��� �� ���
����
+������ S+0� ����� #������ �
�� ��� &�
���� ��� �����
����� ���������� ����� �� �
��< �� ��
��
�� ��������	 0��� �� ��� �
 0$. � ������� H� �����
����� ���������� �� �� �#������ ������
���
� ��� �
���	 
����
����� ���������� ��� ��
� �������� 
���
����� �
� � ��� �������
�
��
� %���
��
�� �� ���
����� ���������� �
 �
��#��� &������������(� �� ��
� !�
�� �� �J��
��#������ �
��	 
� Q2 �� �� ��� #�#������� �� 0$. � ������� H ��� �� E	D ��Y2� ���� EFU
��� #�#������� �� ���
���� � Q2 < 1	 -�
� ��� #�#�������� �� &������������ �� �� ����
��
��� X ���� ��� ����������� ��� &�������� �� ���
��
�� �
 �
��#�� �� ��
���� R��� �������#�#��
�� ����� �� �������� �� �� �#���������� �R�� �� �� �������
�� γ∗q → q� ��� ����������	

+���� �� ���������� ��#�#������� �� 0$. � ������� H ��� &��"��� ��
� �
��������� ��� ���
���������# �
� ��
� ������"
���� � ���� �#���� ����
 pT ��� �
���	 ,� ��
����� ��>��� ��
����
���� �� ������"
���� � ���� �#���� ��� #�#������� ��
� ����
��� Q2 > 1	

�!����
 ��
���
 7�����

�
 

� �H �� #H8

$��� �� �#����� 
�����#� ���� �� ��� �� �� ���
���� +������ S+0 ��
� �� �������� R���

�����#�	 +�����#���� ��� ������� �� �������
� %BB(� qq′ → qq′	 .� ������"
���� � ���� �#����
��#����

R(11)

AµN
(11)

D
=

∑
q,q′=u,d,s,ū,d̄,s̄

Rqq′

〈
âqq′

LL

(
∆q

q

)d(
∆q′

q′

)γ
〉
. %P	BP(

@�����
��� �
� ����� ���������� &��� ������*��� �� ������������ ��� ���#������ ����
�� ��
�
��<� ���� �� ��
��� �� ���� �� ������� ����� �
� ���� � 
�����# �� &������� �� ���
��
��
�������#� �
 ��
��� ���� �� ��� �� �� ���
���� +������ S+0� #�	 %P	BH(	 +��� ����� �

&��� �
� �� ������ #�������
� ��� �
��<� �� !�
� �
�
� �J�� ���� ������������� ��������
�
S+0 qq′ → qq′� ����� �
����� ���������� ���� �� ���
���� +������ S+0 γ∗q → qg	

-�
� ����
��� �� ������"
���� �
 �������
� %BB( � ���� �#����� �� ��� �#�������� �� �����*���
��� &�������� �� ������"
���� �������#�� �� ��� �������#�� ��� �
��<� � �����#���
� �
 ������	
,�� � ����
�� ���
���� ��
��� ��� &�������� �� ������"
���� ��� �������#�� ��� #�# ���
�#��	


� ��� �
 �������
� %CK(� qg → qg ��� ��
� ��������	 +� �������
� ��
� R��� �
"�����# ��
��
� ��
���������
� 9

� %CK�( 9 
� ��
�� �
 ������ ��������� ���� 
� �
��< �
 �
��#��	 
� ������"
���� �� ��
�������
� � ���� �#���� ��� 9

R(28a)

AµN
(28a)

D
=

∑
q=u,d,s,ū,d̄,s̄

Rqg

〈
âqg

LL

(
∆q

q

)d(
∆G

G

)γ
〉
. %P	BK(

�� ������"
���� �� �� �������
� � ���� �#���� �� ��
� ��� ��� ��
� R��� ����
�#� ��
�
�� �������
�� ��� �� &������� �� ������"
���� �������#� ��� ��
��� ���� �� ������ ∆Gγ

��� ��� ������ #�# ���
�#�	



&! �
���(���� �� ∆G
G

� %CK"( 9 
� �
��< �
 ������ ��������� ���� 
� ��
�� �
 �
��#��	 
� ������"
���� �� ��
�������
� � ���� �#���� ��� 9

R(28b)

AµN
(28b)

D
=

∑
q=u,d,s,ū,d̄,s̄

Rgq

〈
âgq

LL

(
∆G

G

)d(
∆q

q

)γ
〉
. %P	BL(

.� ���� ����������� ��� ���#�����
(

∆q
q

)γ

� �� �������
� ����������� �����#��� � �� �����

�������� ��� ��
��� ���� �� �
��#��� �� ������"
����� ���� �� ������	

-�
� ����� �������� ���� ��� ��
� �
��������� ����������� �� �� ������� ��
� � &��� ���
"�������� �
� �� ������"
���� �� ��
� ��� �������
� ������ �#���
 � ���� �#���� ��� �
���	
+��������� ��
� ������� ���� �� ������� P	E �
��� ��� �� &��� �����"�� ���"����� ��� ��&���

������� �
�
(

∆q
q

)γ

��
(

∆G
G

)γ
	


� �������
� %GK(� gg → gg� ������"
� �
��� �
 ������ �� &��� ���������� �� ������������ ���
��
��� ���� �� ������� ������ ������
�	 +��������� ����� ������"
���� ��� �#������"�� ���
�� �������
� �� �������� �
� DU ��� #�#�������	

C���� )��
����

@�������� ������������ �� ���� �#���� ����
 pT 9

A‖
D

= Rpgf

〈
âpgf

LL

D

〉
∆G

G
+ (1 −Rpgf)

AµN
bruit

D
. %P	CH(

.� ���� �
����� �
� ��
�� �� ���
���� +������ S+0 ������"
� � ���� �#���� 9

A‖
D

� Rpgf

〈
âpgf

LL

D

〉
∆G

G
+Rqcdc

AµN
qcdc

D
. %P	CB(

2� 
�������� ��� ����
�� �����#�� ��� �� ���
������ ���� �� ������� ��#�#����� 9

� Rpgf = 0.229 ± 0.006 %������� P	C	B(�

�
〈

âpgf
LL

D

〉
= −0.943 %������� P	C	C(�

� Rqcdc
AµN

qcdc

D
= 0.005 %������� P	C	E(�

�� ������� �� ������������ ��� ��
��� �� ������������ �� ���� �#���� ����
 pT 9

∆G

G
= 0.32 ± 0.17(stat.) ± 0.02(syst.) ± (?), %P	CC(

+� �#�
���� ��� �"���
 ��
� 
�� ������"
���� �� &������� �����
����� �
 ������ ����#� ���
��� ��
��� �� �� ���� 〈ξ〉 = 0.093 �� �� �����
� σξ = 0.062	
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A‖
D

���� ������ �� ������	

�����
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� ���������� ��� ������#� � �� ������"
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� � ���� �#�
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 pT 	 3�
� �� ������ ��� ������ �� ���
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� ∆G
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�
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G
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� �����"������� 12@�2. � #�������� ���
�# ���� �#���� ���#�����# �� �� ����
����� ��
��
����� �� ������� � ������ ���
����� ����������� �� �� � ���# 
�� ����
� �� ∆G

G
��� �� �R��

�#����� \FE] 9

� �� ������"
���� �� �� ���
���� +������ S+0 � ���� �#���� ����
 pT ��� ����� ��
�������

� ����� ��� ������� �#���
� ��� �#����#�	


� )�
�� P	BG ������� �� �#�
���� ��12@�2. �� ���
� �� +,�-�..� �
� ���� ���������
��
���� �������"��	
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� �#�
���� ��#����# ���� �� ������� ��#�#����� � #�# �"���
 � ������ ��� ����#�� ���
����
�
���� DH !�
�� �� CHHC	 
�� ����#�� CHHE %#�������� DH !�
��( ���� �� ��
�� �� �������
��
������ �� �� �
� CHHD %���"�"������ KH !�
��( ��� �
� �� ����� �� ���������	 +� �
�
��� �� ������� �� �� ����� $ �� +,�-�.. 9 �� .-. ��� ���R�# �� CHHF� �� +,�-�.. ���
����� ����������� � ���
#��� ��� ����#�� �� CHHG	 ���� ��� ����#�� CHHE �� CHHD� 
�����
�
���������
� �
� ∆G/G �����
��� ��
� &����
� C ��
� ������ � 9

δ

(
∆G

G

)
2004

= 0.08. %P	CE(

+���� ����
� ���������
� ������� R��� ������ ��#����#� ��� �� �������� � 
�� �
����������
�
 &����
� �� �#���� �� �����#������� ��
� ��� ������� �
�������	 -������������ ���>�����#
�� �� ��������
����� �
 �
�� �������� %������� C	C	E	E( ��#���� �
� �� 72% ���� �� �� �������
��
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����� ��
� ���������
#� 
�� �>�����# ��
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� �#�����
�� ����������� �
� ���� �#�#�������� �� �
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�����	 =������������� ��� #�
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	��� Q2 > 1�

������� �� ������� �#���
� ����� �� FGU � CCU �����
� ���� ������
� �� ��
�
�� Q2 > 1�
����� �
� �� ���������� �� 0$. � ������� H ����� �� DU � EHU	 +��� ��� �V �
 &��� �
� -:�
=1$� �������� ��������������� �� 0$. � ������� H ��� ��� ������������ �� ������� �#���
�
�����
� Q2 → 0	 2� �
���� �����
� Q2 > 1� �� ��������� �
��� !�
� �� �J�� �� ��#������ �
���
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� ������ �� ����
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� ��� #�#������� ��
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��� �� ������"
���� ��� ������� �#���
� � ���� �#���� ����
 pT 	
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� �"����� ��� ��&��������� �
� ����� ������"
���� ��� ��
� �#������
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� �������� �������� � ���
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G
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� ���#����� ����������� �� Q2	 +���� ��
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� Q2 �
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���� ��� �������
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 ������	 
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��������� �
� �� �
���� � #�# ���#� �� �� �#&#����� \F]	
0� �R�� �
� ��
� ��� -05 �
 �
��#��� �� �#�������� �� Q2 ��� -05 �
 ������ ���
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����#� ��� ��� #�
������ ��#���
���� �� � �� 0�
�-	 @������� ���"��� �
� �� ��� �

�
��#��	 � 
�� #������ ����#� Q2
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 ���(� ��� �#�����
��� 
� !�
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��� ���� �� �� W
��
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��<	 
� ������� ��� ��� ��
� � &��� ��������� � ���
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� ��� ����
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������� R��� ���
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���� �� ��� -05 ���� Q2 ��� ���
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����#� ��� S+0 %#�
������ 0�
�-(	
.��� ∆qγ(x,Q2) �� -05 �������� �� ���#����� ����� �� ���"�� �� �
��<� ���#�����# M+N
�� �� ���"�� �� �
��<� ���#�����# M−N ������� 
�� &������� x �� �����
����� �
 ������	
+���� -05 ��� �� ����� ��
� ����� ��� ����
��"�� ∆qγ

MV (x,Q2) �� ��
� ����� ����
��"��
∆qγ

qq̄(x,Q
2) 9

∆qγ(x,Q2) = ∆qγ
MV (x,Q2) + ∆qγ

qq̄(x,Q
2). %P	CD(

�)� ���"����� 
�� ���������� �� ∆qγ(x,Q2)� ������
� ���#�������������� ��
� ��#������
��
���� R��� ������#�#�	 0��� �� M��#����� �����
�N� �� �
����� �
� ��� �
��<� ���� ���
�������#� ���� �� �#��� �����
� 9

∆qγ
MV (x,Q2) = 0. %P	CF(

0��� �� M��#����� �����
�N� �� �
����� �
���� ���� ������������ �������#� 9

∆qγ
MV (x,Q2) = qγ

MV (x,Q2), %P	CG(

�T ��� qγ
MV (x,Q2) ���� ��� ������� ��� ����
�"������ ��� -05 ��� �������#�� �
 �������
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� �� ������� ������ �� gγ
1 ��� �
� � ��
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 ��
����

#����������#���
�	 � ������ �� ��� � ��������� �� ��
� ����
��� 
�� ��������� ��
� ∆qγ

%q = u, d, s( �
��� �� 
�������� �� ��
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�� �����#��������� ��� qγ � �"����� ����������� ��
�� ������������ ��� �
��<� ���� �� ������� (∆q/q)γ	 
� )�
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�����
�"���
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� ���� �#���� ����
 pT 9
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